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Assessing the lifetime performance indices of products with the Burr XI1 and

Extreme Value distributions based on doubly type 11 censored samples
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Abstract:

In recent years, many process capability indices (PCIs) have been widely used in g-
ality monitoring by many manufacturing industries.In practice, the lifetime performance
index ¢, is utilized to measure lifetime performance for products with some lifetime di-
stributions, where L is the lower specification limit. In lifetime testing experiments, we
may not be able to obtain a complete sample due to time limitation or other restrictions.

Therefore, censored samples arise in practice.

This research constructs an unbiased estimator of ¢, based on the doubly type Il
censored sample from Burr XII and Extreme value distribution,respectively. The unbi-
ased estimator of ¢, is then utilized to develop a hypothesis testing procedure and the
confidence interval in the condition of known L. The purchasers can then employ
the new hypothesis and the confidence interval to determine whether the lifetime perf-

ormance of products adhere to the required level.
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i A el 42 S & 1790 & i}zeﬁt Nicolas Bernoulli #% 1! %k 3% » 2 1 4v: Gumbel (1958) » No-
rdquist(1945) > Rantz & Riggs(1949) % Potter(1949) % FHI T RE A fipd RIE (7 BT E R
ToE kR A MNEBRESFEAE D AP EFR % o5 Bain & Engelhart(1992) 2 Johnson & Kotz(1970)

Al * &~ "8 B 53t € (maximum order statistic) s4& *T (limiting) » fie » 2& = & @ 4 fie e 5 fa )
2



=g
o

1.3 = praFsd

1.3.1 $lei 4 4k ene fesrst

AR 4 AT AR * T LR A S kg o 2 2 - o AR 4 dpRdc S A4 Juran
(1974)#% 1 ehCydp t > Cpdp th&d 7 7 7735 4 (tolerances) # - ftanif i £ 2 v F k2 » #
TERACT

USL—-LSL d
Cp ~ 6 30 (1.1

# ¢ USL v LSL 4 %] 3 @l fz 24+ F (upper specification limit) fo %l #2 4.4 = & (lower speci-

USL—LSL) ,

fication limit) > d £+ = % £ ¢— X (Fd = oR ARt E L o H i Fp WA R
o R F A Cpdn it Y R AT HE LT BEAK Y v o F Kane(1986) % Wik B A AT1S I #
N Cppe e BlARR 4 47 & F N EART a9 G B o ¥ e oy AT VR B LR R A )

34 B > Copdy B T AR

USL- LSL
c o

ok = min(Cpy, C,,) = min n(——, =) (1.2)

30

e ooops @At ok

g (1.2)58 7 @4 Cpp ¥ 8 T WAZT 328 #5204 | Ui i s i § 3 ok el AR T 5%
FRenR B wCfrCyied Bkl ¥ B M WART o8 LT KW & T  #r2 Chan

etal (1988)# &1 WAz 4 3gthCpp > * R HFTE WATHRP P FENRE - B LHRA0T

USL-LSL
Cpm = W (1 3)



2o T S @A HRE-

FRAARTOEREIRERS MUAREF - BT AL TG dp iRtV i AT R
BB T RapkRT o B ARK PR HfERF o 2 15 0 Pearnetal.(1992) .8 & 1 CppfrCyyy 0 12

AR TR REP RN &R - BATOEARN 4 IR G 0 H LR AT

C. o min(UsL-p, p-LsL) (1.4)

pmieT 3ok -T2
Pt e WARTIHEERR TR o Sppl Tofie T ot PR 2 B R R AR R

b e

v BEARR 4 R RC, ~ G o Com -~ Come #8237 & f fFif 2 ¢ (bilateral specification) ™
23 % P Al & F 4514 (the target-the-best type quality characteristic) sl #2.4¢ # a4% « ¥ 7 A & F
FHAF €42~ BRRY ~T R REHASORE - Gl 2 Kp DB B - 2 HFEE . 2
¢ »Montgomery(1985) - Kane(1986)#% ! 7 H i 2.1 (unilateral specification) s 2.5t 4 45 #%C, ~

Cor =2 (1.6)
Cpp = - (1.7)

B0 Gt A A TR 4 o 2 S TR F B BART AR
P A SR F Y ST AR A AR Blde A Rehd b a B R SRR L B AT £ Cou

3¢ ] A & F 45 14 (the small-the-best type quality characteristic) sl Az.it 4 4518 ¥ | 4] 5 F 14

Ny

N

i ¥ g{:' T - BARBEF R kA il F Y w%ﬁ*ﬁr}ﬂ»\ | AXLF o GlAckE R A L E N A R



hARRER 2 T AAERE o

btz QWARR 4 dp iR 2 R AGER S R B A fe Bk T TR Y chdpdho A AR Ak
X IR T 2R A feo £ 2 EA Fehd &0 e F]4t > Clement(1989) ~ Pearn & Ch-
en(1997) ~ Liu et al.(2006) & 4 & %] 444245 f & fie 2. W 47 4 4 ta kit i ELE SR LY e U
Ay TEART ot £ i P iE kB AR 4 451k - Montgomery (1985) A2k * & &
Fredp e C kR T+ F 2 ihd &5 % o Tongetal (2002) 434 T + F # 5 dpdieh feenfiin™ > 1)
PR R ASHEC - R 2 7 &3 £ (uniformly minimum variance unbiased estimator -
UMVUE) = Wu et al.(2007)4%+4 & 4 & & PR _Rayleigh 4 e 2 ™ » 2245 & & 5 »edn 150, > 53§
Wh A PG Ed A kol A R R A F R D - BATOER R A XTR
A fenig st e FlUt BT E A ARG A e VA i & B TR YT Fa s
TR HEE T ST 22 EAR T I EN G F B Al ki Wi 4

da o

1.3.2 &4 &

L AT TR VNS 5 0T B o0 Bk RRIEE T RERR TR R
BFF U (et A F TR KRR B A G AP E P R TS ) TRBIF Fr4+ 10

FEn—sB i X(r+1) < X(r+2) < < X(n—s) 2y = E’:'T’"}; LT ] rﬂ%f‘?%é o s i L AR BRI T E'Jfﬁ—l«”‘ &

BFA) = 3% "4k A (doubly type Il censored samples) °

MR KU AP g = 0FF 0 Bt AR AARHE S + 3] 3K Uk & (right type 1T censored
samples) ; & 2. > Fs=0pF » R ik A4 FE 5 = 4] = 3% "Lk » (left type Il censored samples) ©

PA B VAN E R B S R R A g o

His 5 BERUTAp bR 2 e Ferna'ndez(2000)# ) & 4] = W' U &4 7 {8 5 dde s feeny
5



AL 17 & % #0278 i8] (maximum likelihood pridiction) ; Wu and Li(2004)#7 3 % 4] = % "k & T %
£ 4 & & 4 fie (Extreme Value) % #c (7 i it &3+ ; Wuand Li(2005)F1* % & 4] = 3% 'k A 4
Bu-

rr Type XII 2 Lognormal 4 fiz 7375 % S #iciasiib 483 5 Wu & Wang(2007)# 3 B3l - R "Uk
T o HE G Riks RrE S22 E S it - Wu(2008)4 3 XK AT > HET
FEifciip B A fe B i % B 535 ) Wuetal. (2010)45 34 i® #H R U AT - 2 5 B S ¥ B-
urr XII # fe 3 48 % & 53 0 Wu & Lin(2011) 1 # 3] = X "REEH X" UR AT HF L 3 5403 4 fe

2B

SENE S S X X

ko EHET T S I HBE R s 2 2 RN 4 B AR

_E,.
Fapth o e B D U A SRS 205 2 F S @A S KUK AR & Burr XIL A e

A&nd Ao $ =% 5% A K 'UE 2325 2 4k @ (Extreme Value) 4" fie 2. & 5-ihd & 4
P EAHAET S RIS 2 R0 AR AR D R AT E TR E AR T
e b o R AP B A R UER T R RA Send b 8 L3 2 I E TR Aen

(3 R L L AT o S



- F I BAU- KU AR EF Burr XII A2 2 i 4k

AR EIREPF A2 E AR Burr XII A fepr o @ B - A RTFRE A SR b

ETIRN
F_k

o2 1 865 ARnE b B WAARF 2285 BB 3

FREI23E A E A RS AEA 2.4 85 F SRl Y 2 HERE L 2.5

3«&

SRR E LT

§ 5 A B F R EPRRT 20 85 E e il B KB PF R 4 RCEAR 2T &5

el b b -
2.1 & Fihdk &% sty s A2 2 3
2.1.1 & % ehd b 3 ok i

Bk A 52 & & X PRI Burr XII & fie » H 4% & % & & #i(probability density function,p.d.f.)

% 4% 4 e & #ic(cumulative distribution function,c.d.f.) "2 2 gz 5 & #ic(hazard function) 4 %[ 4e 7

fO) =ckx T 1+ x)"®D x>0, ¢c>0,k>0 (2.1)
Fx)=1-(1+x)™ , x>0, ¢>0,k>0 (2.2)
h(x) = ckx"*(1+x)1, x>0,c>0,k>0 (2.3)

H¥ > ki ® B %#c(scale parameter) » ¢ & 5%k -#c(shape parameter) -

B2 2R Burr XII & fie & 5 % & S8k 255k Sodice > @ 58 Burr X1 A feenajk 2 ¢ 2270k &

W

Boc AR s Tl A A O B AR S licc B o

B a0 4 Y=In(1+X6) 0 RIY § IR Sty s oo BB B Sl A e



fr) =ke™*, y>0, k>0 (2.4)

Fy)=1—e™  y>0, k>0 (2.5)
hy(y) = 1f§i)) k,y>0,k>0 (2.6)

SHRAFOURFEREFEA L ASTEARARLARE 0 Y A SE AR AT H B4R

oot A BE b g TR A Y A Al e 41 - Montgomery(1985)4% 41 1 — i B A7 4y 4

RCL AR Z A AnE TR f LR T

C, = L (2.7)

He s @lAfeTofic o QAAAEEL S LERET R o

SRR S TE LR RN St g N CE) S8 S

o =.Var(Y) =% (2.9)

B(2.8) ~ (2 OF B3 (2D > BlE b rch 10,7 5B &

_ 1/ _
6=t /1’;kL=1—kL (2.10)

¥ A EATE TR Ymiiﬂﬂt—>LF¢ F e FApRC, >0 4 (21007 R > § :kﬂ  H

KIBSAL o A SRR i F B F ] BB A B AR



dpt P ar ARG i g £ R AR R ehE Ao
2.1.2 2 Zenflfg 2

ok A Bt eARE e RETRYSL) ) B A SR TR S LS B ASATE ST AR
AL AwRRET R Pt A r-r'JII'K’);t THE e UE o L EAI FH L WA 2 5 (conforming rate)

AT

B=P(Y>2L)=[ edy=et"t, —0<(, <1 (2.1D)

d Q2 IDAF P e 50 WRAFRAZ G iRC, 2 B 5 ¥ B anh o & 7

CL%LFijgrL—'E’ AX < o J A@Hﬁ- il Pr@'k_ﬁ”‘ g

Al 2 IDF T PN AR e EZ T HEHREPE 24 2.1 ¢ 7|07 2R ER H
SR E 0 A A 2.1 A2 G E S RIT R (2,115 & B 07 SR D AT D
P& o

% 2.1 3 b%reh ke 2 a2 p

C, P, C, P, C, P,
-7.00 0.000335463 -0.05 0.223130160 0.50 0.606530660
-6.00 0.000911882 0.00 0.367879441 0.55 0.637628152
-5.00 0.002478752 0.05 0.386741023 0.60 0.670320046
-4.50 0.004086771 0.10 0.406569660 0.65 0.704688090
-4.00 0.006737947 0.15 0.427414932 0.70 0.740818221
-3.50 0.011108997 0.20 0.449328964 0.75 0.778800783
-3.00 0.018315639 0.25 0.472366553 0.80 0.818730753
-2.50 0.030197383 0.30 0.496585304 0.85 0.860707976
-2.00 0.049787068 0.35 0.522045777 0.90 0.904837418
-1.50 0.082084999 0.40 0.548811636 0.95 0.951229425
-1.00 0.135335283 0.45 0.576949810 1.00 1.000000000




i AR U r‘%fa&ﬁ”{"éﬁ LR A S B A ehfe 3 B - 1995 Montgomery(1985) 587 1 g i
I FER PR G A5 BRAS RIS AP S R R AR AN A 20
FHRAOLET s T g Fla @RI E B RFH 2 2R ERA T AEh < Flg oy
ToARALFI AN MY oot b d (21D F a0 B ARG PR F R A
FooH- OB FH G BV KT ASOST S T U kPR AF LT LD TR R o

Tt A b AR A - BRI ASE GRS

2.2 F G HCint it £

A &ihd fEs& Y o d SRR AU A B e (A A PR kR EE R )

ERF K R BRI A SR b T 3 P RO R A R E
*

TE";Q X(T'+1) < X(T'+2) < < X(n_s) f’i N El Burr XII & fjﬂ B ".E'_%ﬂ'l: B KQ’B’Z *\(ar’ él_—_ﬁ—: i‘\ﬁ;tf%
nZT o 2R BERA LR Vs BHEA TRBIn-—s—r BHEA) EHEBI A S

He(p.df)4e :

fX(T+1)'X(T+2)""'X(n—s) (x(T'+1)' x(r+2): L] x(n—s))

[ X(x(r+1))] [1- FX(x(n—s))]S X [[isre fx ()

ris!

—(k+1)

_ S
|- (1 xean)” ] x{1=[1= (14 x-9) [} XSS ckx ™ (T ) (2.12)

FE Yy =m(A+Xy) +c>0 R Yy i=r+1,... n—s s %73 dpdcs e Exp(k)2 7

10



B0\
[\
e

34‘%

Zryp =(n— r)y(r+1) ’

Zi=(m—i+ 1)(Y(i) — Y(i—l)) » t=r+2,.....n-S °

d Bickel &2 Doksum(1977)(p.46) ¥ ZE 18 Zy 11, Zri2) Zyy3s e vem v s AP Rp AR H

$licty oA fe Exp(K) 0§ - T E @ e o

W

=i+ DYy — Yoy » BIW~ Gamma(n —s —r1,k)

(=1

2klW~x*(2(n —r —5)) (2.13)

F[2kW] =2(n—r —35)

~e[2]e o=

n—-r-—s

P:"—i—(l'}_ ) T,,.91’1‘1% ]ﬁj ]‘;;‘L"Q‘_ o r]LL ) 9 :‘;
n—r-—s
~ 1
5 - (2.10)
n—r—s
BETCRRET AL FAC =12 SR R0 =1—2 aC @i tis:

E(C)=E(1-3)=1-LxE(3)
=1-Lin—s-m)x2xE() (34 E~rem-r-9))

=1—( nosr )xg (2.15)

11



g (2.10)540(2. 15) 8 7 5 E(C# Cp > Ft » C 3 BCeh— B3 w28 o d 4 K- BCh

3BTRS MO AR

Cl’, -1 % % (n—s—r—l) —1— L(n—-s-r-1) (2 16)

“Cl g HC - B R o

2.3 & & 3 ok HeCp il TALR

dONREEE I RREL P ARE S RO BT R B R KA

e
TRER T pt SRS B R RS KRR E AT IR E R Rk .

Bk TR fehd b ondp iR A 2tct ) # ¥ "L P &g (targetvalue) - B ¥ 11 aE 2 Ho: Cp < ¢
(& oy C A #r § Rk B )2 H: C > (T d & FoudpCL e s or g Rk )2 i

BT CL2 B RO R RAH R RSB T 27 2 {CI0 > G A7 R TR -

AR E Y kR Ba B AR R R BR(PA [ FL)mE A5 o T 82

BE REQT > §2fh 50,7 MAkde F4eT ;

sup P(C] > Cy) = a

P(EZ>C0|CL=C*)=a’ﬂﬁ@:l—%ycllzl_g
L(n-s-r-1),1 1—_c*_
=>Pw w>———— ;== =a

12



2w 2L(n—s—-r—1) 1 1-c¢

=P > = =
5 9(1—Cy) p= L )¢
2w 2(n-s-r-1)(1-c")\ _
=P (T > (1-Co) ) =a
2w 2(n—s-r-1)(1-c*)\ _ _ cHe W2 o
= P( - < e )— 1—a - H o~ X Q2(n—-r—y)) (2.17)

2(n-s-r-1)(1-c*)
(1-Co)

g (2. 1) v 185 =x:,2n—-s—-1)) 2 y2 2n—s—7r))ETpd
Be2—s—r)z2—+ 2 »peaT (1 —a)s =#c(lower (1 — a)th quantile) o Fpt > 7 2 7 30 @

Cos

B _2(n—s—r—1)(1—c*)
Co=l = amsm) (2.18)

Hec'varr s na WA 7P HRE - BFRE 23X Bk - FRABHIoHR 28 £ 2.2
#4093 4570 ha = 0.019ra = 0.05% »r=1(1)3~s=1(1)3 * ¢'=0.1(0.1)0.9 - n=8(1)20 * m =

n—s— g €0, -

A (2. 18)30 7 0§ KU dkr = 0FF > TRl E6 &

. _Z(n—s—l)(l—c*)
oAl == Gy (2.19)

s ettt Baed 2.4 ok 2.5 o

B2t & 6 S ondn 1 CL2 4R TARS ) T 4o T

W3-

LB ABHEnZE XISk rios BRASE @ X kp BurrXI 2 fe > B85 B AR S¥k2
RBAx A pe sl (2,138 % (2.2)7% 0 £ Xy & PRAE Burr XII 4 fecnfd) - U A B P i=r+1,

, =S T,s<n> BFy(Xp) i %2 (%4 Wuetal. (2007)) 5
13



E(FX(X(i)))=n%1,i=r+1, ...... n—s-'rs<n (2.20)

. i i -1 _ .
FU—— S EF (X)) » T~ 1= (L4 xp¢) /00 #8F BIAEIL > A B P )

RIS T
ln(l——)~——ln(1+x(1)) i=r+1,.... n—s (2.21)

FI* o) T2 0k Ak Sliceen AL T E 0 & 734 T 2 {r(error sum of square, SSE)

&+’%mm{lwimu——ﬂ+ mm+&oﬂ}’”@i£ﬁ£¢W@@’ P30 o

H A=

LA BHn 2 X U%dkrfos 925356 X X p Burr Xl # e enffEd) - KUk £~
X)) <Xppgz) < <Xogy(FA S P 5 nenigii &> X Ar B4 - R As B A
PELEIIn-s—r BERIE) Y FTRERE LYy =h(1+Xy),i=r+ 1. n—s BV <

Y(r+2) < e & Y(n -5) T kp H Kﬁ;;;fﬁﬁﬁ;,é,\ Feen Al = KPR A o

ﬂ}.?ﬁ_:.:

AT AEFEORRTR L PRECME B RF ke MIFEHENHeC S (27 & &

Focdy RO A F Rk ) H O > (£ 7 A & By RO e i 40§ Rk F) i TR -

#H 2
FI# (21N REFO > REBOF »(2.16)5% > BIF 35 I 253t B ohie

L(n—-s-r-1)

fq=1-tor

14



H}.ﬂ’ﬁ:{:
Rfpbeap Ec s Hrden - X W%&krfos W2 HF #a FE4 2.2 fv% 2.3

¥ E D AR R TR 20, -

#H 2
WR G ArCo I fad Bk o B A R R e
@ ?CL>C0’EJ#F' ?Ho’Z\TpZ)é—)_

e
@ £C<Co> RIAIESH, > %724 &hE & Fredhihin & 3

m ’Zﬁ‘f Kq’}’{ ﬂiﬁir = OH“’? P ,; | ‘_1'] Kq\’}’{ A - lﬁ*d V'J ) JX(l) < X(Z) << X(n—s) 73 -

£ % BurrXIl A feent A - kU A(RA A 5 neasg i ? > TRPIFIn-sBASEH) >

11

AT R 2.2 S E s REAE Ak B PRl B4 TRE 23§ 6

redp et RS e LA S LT E 1T E RavkE e q Clete &4 /25 #4243 &7 st

El

2.4 oY b 2 HEREZ VR
2.4.1 e gkl ke ok

KPR TR €4 TR EAIES R A B S o 145 2.3 & Bk TR R Ln &

Bk Ho: Cp < et Bk Hy: Cp > ¢f > B 534k weiie 24 Sl 4o

LRFEABERL- KR UEABHEr-s(r-s¥<n) 2 EEF-LBa> x JFS ,;{CL>CO}

2(n—s-r-1)(1-c*)
Xi—q(2(n—-s-1))

Co=1— e C = (>0t 0 BlE A R T Pl )b

15



Ple,)=PC > Col Cy=c;) » 3¢ G =1 - peq, =12

_ . L(n—-s-r—-1) . 2(n-s-r-1)(1-c*) _L_
=P(1 — >1 P Zm—s-1)) |1 0= c1)

(Z(nsrl)(l —-c*) L(nsrl)ll 1c1)
Xi—a2(n—s-1)) w 0 L

Lyi_o(2(n—s-1)) 1-c
=Pw> 1-c* |9 L )

p (M > Xf—a(Z(n—s—r))(l—cl))
0 1-c*

2 —5— —
—1— P (% < X1—a(2(n1_sc*7'))(1 C1)) H e %NXZ 2n—s—r1)) (2.22)
AT LY 6 g ¢ A @ Rl R B 104 B e XY B R L

PR 24205 % A FRURABr =0 > » ¥ Ryp(2.22) RS o

2.4.2 ARVFE T 2R TS DL EAHREL VR

199 2. 4.1 Sord D chig 74 Sl A< 1% F 4 F B (Monte Carlo) st & 232 5 4 &

Forzipthhie T4 0 Pl LE A gt ae T4 Pe) 2 ) Bpde ™

#H 2.

O AuETpFRiEc (<< ~Ak$Ec TREAIL - FF L Fa- U+
#rosEAfKn-o

@ %#E07 )% C, = 1—§=c1%.3;'1 v CL < 1o

o

@ 1" Trost S nEkpog AmRUO0DZ FWEAULU, .., Uy S2AEEIE S
ﬁ?’f?t %U(l)! U(Z); rU(n) °
Y
@ g4 WHEXY = [(1-Up) " =1 i=12n MKy Xy o Kony) Lk 0 8
S S (l)_[( (l)) ] L= 1,4,...,n .((1), (2)r > (n))T“’» B =

F R SBhe(2.2)58 - 25 BEA o
16



© #4 PR PH Al ST 0 BT EIF R UE R 5 Xy < Xgany < o <
Xy Tirs ¥ <ne GFPEHLEIYH =nA+Xy) i=r+Lr+2,.n-s-
® F1* (2. 14)58 K102 B3 60 £ & »(2.16)0 FeF GG g RC 2 F HieE:

Z:Z —1— é % (n—s—r—l) 3

0 n—s—r

@ Fi* Bx W 2 %”Z’\L’>C0 » Bl drcount=1; kK 2 » Bl &rcount=0> H ¥ » f&fk &

2(n-s-r-1)(1-c*)
x2_,2(n-s-1))

C0=1_

HF
@ #-% Z— 45 1000 % -

Total count
—— O
1000

@ 7@ - B P(c)2 A HHRE L P(cy) =

O ##hF;= £45 100 = - PIF 218 5] 100 B e 4 H3E 5 -

15\1(‘31) , 15\2(‘—’1) ,"'PIEO(C&) 1

_ 100 5 (0.
@ o OF F7 B3] 100 & H XS PR T8 3 P(e) = 2200 gyphgo p g

10015 (. y_ 2
(SMSE) 5 : SMSE = Z=- eIl , 0 peyd (2.22)5 #42 -

R HT o BB RAMn 5 20 230 B HREC=0.2 ¢ = 02(0.1)0.9 + T AL R 2
L=1> 8 % -k #a = 0.014ra = 0.05 » % *UE 4 #(r,s)=(1,1) ~ (1,2) ~ (1,3) ~ (2,1) ~ (2,2) ~ (2,3) ~
(B1):(32)~(33)T *& & H iRtk XA P(e) Bk EMAcA 2.6 14 2.23 M 2.1 2 W 218

AT o

Fd 2263142 22R2.12WM2.18 " ugR I (DEAZGqfrn ™ > Bz 4 2FE

Ple) @ T30 P(c)) € "EF R "W AL rt s E— dfedm jf > 5 (DN E- BTl

RHc T 00 ¢ TR €4 2 0 2 B A7 a5 384 SMSE §Riv ] -
17



2.5 F TR R

B H AT LT T 0 24 & R N hE b G okdp iRt AR K HETE Sehd LT
FAERTE RAVRIE S AT RY F S RDT IR FF LR L
fI* 2.2 & B NC2 B R 0 F BRAME RDASE ST ARER AL ¢ oo b IS

WAUT R R en s KUk R e s fes $<n) EIJCT=1—§><("‘S‘H) 2 Ed 2.3

n—s—r
B oy 0 P10 BRI RE S 1 — o T 0 A 4 g 10,2 100(1 — )%:ni

i S T A

P(%S){lz_a(Z(n—s—r))) = A o

1 _ Xi_a2n=s=1) y_ 4
ﬁP(GS P J=1—-«a

:P(e SLXl a(2(n-s-r)) ) P

2w
L _ Ly?_o2Mm=-s—1)) _ K, L1 n-s-r
>PA-2>1 — =t a Crg=— )
(1- CL) Xl a(2(n-s-1))
=>P(C,=>1- Sy —— )=1-— (2.23)

d (2.23):8 7 1 # 3]CL2-100(1 — o)%=1% ¥ T & (Lower confidence bound)  :

—chy2 —s—
L_le _ (1 CL)XI—[Z(Z(n S T)) (2. 24)
2(n—-s-r—1)

—_

BT g Qn—s—7) ries AU AT SCER B R fd R E2n—s—n)2+

AT (1—o)A mdicfez ~ L3RR ABHce Flpt 7 0 FPCL2100(1 — )% i % F 5

18



.2 e
c.l=|1-24 CLZ)(f_—S“_(ff’i)s D ) (2.25)

Mot E b S ety RO 2 B H B ARER AR B BT o

’Wi’ﬁ—:
AP0 2 X Ik rios BRASFE XKD BurrXll A B85 B R Sz R
Ao pesdl (2,172 (2.2)5% £ X » PRIEGREA e d] - "W A HEdi=r+1,..n—s>

r,s <n> PIFy(Xg) i 2 B (%% Wuetal. (2007)) 3

E(Fe(Xp)) == i=r+1n—s rs<n

. iy i -1 L e | .
Fr— R (X)) T 1= (L xS /00 B3 BT 8 R g T

(ARSI TR &
ln(l——)~——ln(1+x(l)) =14, ..%. n—s

FI* BT 20k ¥ ALK Slikeeh E A% T E 0 @ B £ T 2 {r(error sum of square, SSE)

2
B o —”Pmm{ i r+1[ln(1——)+—ln(1+x(l) )] }v P KB EBGE EdcE > FERIOE -
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SnarEg s 2 EXAr BHEA L ER Vs BHRA DERIn—s—r BEPE) 1
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PRI A T S dkiEc = 32 1k Adkn 3 20 & 300K "k A #c(n,r,s)=(20,1,1)~(20,1,2) -
(20,1,3) ~ (20,2,1) ~ (20,2,2) ~ (20,2,3) ~ (20,3,1) ~ (20,3,2) ~ (20,3,3) ~ (30,1,1) ~ (30,1,2) ~ (30,1,3) ~
(30,2,1)~(30,2,2)~ (30,2,3) ~ (30,3,1)~ (30,3,2)~ (30,3,3) " 2 T 445 F L L=1~ A ¥ -k o = 0.019r
a=0%T’%éﬁﬁﬁﬁiﬁﬁ¢ﬁﬁ%%iﬁ%%224ﬂ%2i5%ﬁ°é%224#%225

THR A EmMIS) S B Rk R0 E] — aAF RT R R R k(1 -
¥ o etk k357 AL SMSE FRit ) o FI o o R AT i R BT AR TR e 2 0

O kR R b S BT FTE TR Ak

133 Nelson((1982),p. 105, Table 1.1) s bRl + ¥ AT R T hd e2&%  BEZ 19 B
BALMVATRTEFASBRHESIZ LSS P IER T2 B EZ 6T L2 W4T 10,19
0.78~0.96~1.31~2.78~3.16~4.15~4.67~4.85+6.50~7.35~8.01~8.27~12.06~31.75~

32.52~33.91 ~36.71 %2 72.89 > ® {23 Wuetal. (2010) = %zt £ F 4L £ PR Burr XII 4 fiz o
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222 EKFa=00124 &1 EC, =c* = 0.1(0.1)0.9 &3 " fdr = 1(1)3 s = 1(1)3

'n=8(1)20>m=n—s—r* » £ 3 Burr XII & fie2 & && & 5 >edpiheniplh BC, -

m | c=0.1] c=0.2 | c=0.3 | c=0.4 | c=0.5 | c=0.6 | c=0.7 | c=0.8 | c=0.9
2 10.8644 | 0.8795 | 0.8946 | 0.9096 | 0.9247 | 0.9397 | 0.9548 | 0.9699 | 0. 9849
3 10.7859 | 0.8097 | 0.8335 | 0.8572 | 0.8810 | 0.9048 | 0.9286 | 0.9524 | 0. 9762
4 10.7312 | 0.7611 | 0.7909 | 0.8208 | 0.8507 | 0.8805 | 0.9104 | 0.9403 | 0.9701
5 | 0.6898 | 0.7242 | 0.7587 | 0.7932 | 0.8277 | 0.8621 | 0.8966 | 0.9311 | 0. 9655
6 |0.6567 | 0.6949 | 0.7330 | 0.7711 | 0.8093 | 0.8474 | 0.8856 | 0.9237 | 0. 9619
T 10.6294 | 0.6706 | 0.7117 | 0.7529 | 0.7941 | 0.8353 | 0.8765 | 0.9176 | 0.9588
8 10.6062 | 0.6500 | 0.6937 | 0.7375 | 0.7812 | 0.8250 | 0.8687 | 0.9125 | 0. 9562
9 |0.5863 | 0.6322 | 0.6782 | 0.7242 | 0.7701 | 0.8161 | 0.8621 | 0.9081 | 0. 9540
10 | 0.5688 | 0.6167 | 0.6646 | 0.7125 | 0.7604 | 0.8083 | 0.8563 | 0.9042 | 0. 9521
11 10.5532 | 0.6029 | 0.6525 | 0.7022 | 0.7518 | 0.8014 | 0.8511 | 0.9007 | 0.9504
12 10.5393 | 0.5905 | 0.6417 | 0.6929 | 0.7441 | 0.7953 | 0.8464 | 0.8976 | 0.9488
13 | 0.5267 | 0.5793 | 0.6319 | 0.6845 | 0.7371 | 0.7897 | 0.8422 | 0.8948 | 0.9474
14 10.5153 | 0.5692 | 0.6230 | 0.6769 | 0.7307 | 0.7846 | 0.8384 | 0.8923 | 0. 9461
15 1 0.5048 | 0.5599 | 0.6149 | 0.6699 | 0.7249 | 0.7799 | 0.8349 | 0.8900 | 0. 9450
16 | 0.4952 | 0.5513 | 0.6074 | 0.6635 | 0.7196 | 0. 7756 | 0.8317 | 0.8878 | 0.9439
17 10.4863 | 0.5434 | 0.6004 | 0.6575 | 0.7146 | 0.771L7 | 0.8288 | 0.8858 | 0.9429
18 | 0.4780 | 0.5360 | 0.5940 | 0.6520 | 0.7100 | 0.7680 | 0.8260 | 0.8840 | 0.9420
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£2.3 BEKFa=0052% &4 1EEC, =c' = 0.1(0.1)0.9 &% " fdkr = 1(1)3 s = 1(1)3
A

'n=8(1)20>m=n—s—r* » &5 Burr XII & fie2 & &% & & 5 redpihenielh BC, -

m | c=0.1] c=0.2 | c=0.3 | c=0.4 | c=0.5 | c=0.6 | c=0.7 | c=0.8 | c=0.9
2 [0.8103 | 0.8314 | 0.8524 | 0.8735 | 0.8946 | 0.9157 | 0.9368 | 0.9578 | 0.9789
3 |0.7141 { 0.7459 | 0.7776 | 0.8094 | 0.8412 | 0.8729 | 0.9047 | 0.9365 | 0. 9682
4 10.6518 | 0.6905 | 0.7292 | 0.7679 | 0.8065 | 0.8452 | 0.8839 | 0.9226 | 0. 9613
5 | 0.6067 | 0.6504 | 0.6941 | 0.7378 | 0.7815 | 0.8252 | 0.8689 | 0.9126 | 0. 9563
6 |0.5720 | 0.6195 | 0.6671 | 0.7146 | 0.7622 | 0.8098 | 0.8573 | 0.9049 | 0. 9524
T 10.5440 | 0.5947 | 0.6453 | 0.6960 | 0.7467 | 0.7973 | 0.8480 | 0.8987 | 0.9493
8 10.5208 | 0.5741 | 0.6273 | 0.6806 | 0.7338 | 0.7870 | 0.8403 | 0.8935 | 0. 9468
9 10.5012 | 0.5566 | 0.6120 | 0.6675 | 0.7229 | 0.7783 | 0.8337 | 0.8892 | 0. 9446
10 | 0.4842 | 0.5416 | 0.5989 | 0.6562 | 0.7135 | 0. 7708 | 0.8281 | 0.8854 | 0.9427
11 10.4694 | 0.5284 | 0.5873 | 0.6463 | 0.7052 | 0.7642 | 0.8231 | 0.8821 | 0.9410
12 10.4563 | 0.5167 | 0.5771 | 0.6375 | 0.6979 | 0.7583 | 0.8188 | 0.8792 | 0.9396
13 | 0.4445 | 0.5062 | 0.5680 | 0.6297 | 0.6914 | 0.7531 | 0.8148 | 0.8766 | 0.9383
14 10.4339 | 0.4968 | 0.5597 | 0.6226 | 0.6855 | 0.7484 | 0.8113 | 0.8742 | 0.9371
15 1 0.4243 | 0.4883 | 0.5522 | 0.6162 | 0.6802 | 0.7441 | 0.8081 | 0.8721 | 0.9360
16 | 0.4155 | 0.4805 | 0.5454 [ 0.6103 | 0.6753 | 0. 7402 | 0.8052 | 0.8701 | 0.9351
17 10.4074 | 0.4733 | 0.5391 | 0.6050 | 0.6708 | 0.7366 | 0.8025 | 0.8683 | 0.9342
18 | 0.4000 | 0.8314 | 0.5333 | 0.6000 | 0.6667 | 0.7333 | 0.8000 | 0.8667 | 0.9333
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% 2.4 E-k#a=00123 ﬁva‘% #EC, =c" =0.1(0.1)09 % %"

'n=8(1)20m=n—-s—r~F > 23 Burr XII #fc2 &

9

m | c=0.1] c=0.2 | c=0.3 | c=0.4 | c=0.5 | c=0.6 | c=0.7 | c=0.8 | c=0.9
5 | 0.6898 | 0.7242 | 0.7587 | 0.7932| 0.8277 | 0.8621 | 0.8966 | 0.9311 | 0.9655
6 |0.6567| 0.6949 | 0.7330| 0.7711 | 0.8093 | 0.8474 | 0.8856 | 0.9237 | 0.9619
7 10.6294 | 0.6706 | 0.7117| 0.7529 | 0.7941 | 0.8353 | 0.8765 | 0.9176 | 0.9588
8 10.6062 | 0.6500| 0.6937| 0.7375| 0.7812 | 0.8250 | 0.8687 | 0.9125 | 0.9562
9 |0.5863 | 0.6322 | 0.6782 | 0.7242 | 0.7701 | 0.8161 | 0.8621 | 0.9081 | 0.9540
10 | 0.5688 | 0.6167 | 0.6646 | 0.7125| 0.7604 | 0.8083 | 0.8563 | 0.9042 | 0.9521
11 10.5532 | 0.6029 | 0.6525 | 0.7022| 0.7518 | 0.8014 | 0.8511 | 0.9007 | 0.9504
12 1 0.5393 | 0.5905| 0.6417 | 0.6929 | 0.7441 | 0.7953 | 0.8464 | 0.8976 | 0.9488
13 1 0.5267 | 0.5793 | 0.6319 | 0.6845 | 0.7371 | 0.7897 | 0.8422 | 0.8948 | 0.9474
14 1 0.5153 | 0.5692 | 0.6230 | 0.6769 | 0.7307 | 0.7846 | 0.8384 | 0.8923 | 0.9461
15 10.5048 | 0.5599 | 0.6149 | 0.6699 | 0.7249 | 0.7799 | 0.8349 | 0.8900 | 0. 9450
16 | 0.4952 | 0.5513 | 0.6074 [ 0.6635| 0.7196 | 0.7756 | 0.8317 | 0.8878 | 0.9439
17 10.4863 | 0.5434 | 0.6004 | 0.6575| 0.7146 | 0.7717 | 0.8288 | 0.8858 | 0.9429
18 | 0.4780 | 0.5360 | 0.5940 | 0.6520 | 0.7100 | 0.7680 | 0.8260 | 0.8840 | 0.9420
19 10.4703 | 0.5291 | 0.5880 [ 0.6468 | 0.7057 | 0.7646 | 0.8234 | 0.8823 | 0.9411
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225 BEKFa=00524 &4 1EEC, =c =01(0.1)0.9 4% T hdr=0s=1(1)3
'n=8(1)20>m=n—s—r* » &5 Burr XII & fie2 & &% & & 5 redpihenielh BC, -
m | c=0.1] c=0.2 | c=0.3 | c=0.4 | c=0.5 | c=0.6 | c=0.7 | c=0.8 | c=0.9
5 | 0.6067 | 0.6504 | 0.6941 | 0.7378 | 0.7815| 0.8252 | 0.8689 | 0.9126 | 0.9563
6 |0.5720 | 0.6195| 0.6671 | 0.7146 | 0.7622 | 0.8098 | 0.8573 | 0.9049 | 0.9524
T 10.5440 | 0.5947 | 0.6453 | 0.6960 | 0.7467 | 0.7973 | 0.8480 | 0.8987 | 0.9493
8 10.5208 | 0.5741 | 0.6273 | 0.6806 | 0.7338 | 0.7870 | 0.8403 | 0.8935 | 0.9468
9 10.5012 | 0.5566 | 0.6120 | 0.6675 | 0.7229 | 0.7783 | 0.8337 | 0.8892 | 0.9446
10 | 0.4842 | 0.5416 | 0.5989 | 0.6562 | 0.7135| 0.7708 | 0.8281 | 0.8854 | 0.9427
11 10.4694 | 0.5284 | 0.5873 | 0.6463 | 0.7052 | 0.7642 | 0.8231 | 0.8821 | 0.9410
12 | 0.4563 | 0.5167 | 0.5771 | 0.6375| 0.6979 | 0.7583 | 0.8188 | 0.8792 | 0.9396
13 | 0.4445 | 0.5062 | 0.5680 | 0.6297| 0.6914 | 0.7531 | 0.8148 | 0.8766 | 0.9383
14 10.4339 | 0.4968 | 0.5597 | 0.6226 | 0.6855 | 0.7484 | 0.8113 | 0.8742 | 0.9371
15 | 0.4243 | 0.4883 | 0.5522 | 0.6162 | 0.6802 | 0.7441 | 0.8081 | 0.8721 | 0.9360
16 | 0.4155 | 0.4805 | 0.5454 | 0.6103 | 0.6753 | 0.7402 | 0.8052 | 0.8701 | 0.9351
17 10.4074 | 0.4733 | 0.5391 | 0.6050 | 0.6708 | 0.7366 | 0.8025| 0.8683 | 0.9342
18 | 0.4000 | 0.4667 | 0.5333 | 0.6000| 0.6667 | 0.7333 | 0.8000 | 0.8667 | 0.9333
19 1 0.3931 | 0.4605 | 0.5279 | 0.5954 | 0.6628 | 0.7303 | 0.7977 | 0.8651 | 0.9326
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% 2.6 AHFkFa=0012% Vhlr=1s=17 > & & ey ifatk 24 T 58 P(c))

#35 5(P(c;))* SNSE -

n=20 r=1 s=1 a=0.01 n=30 r=1 s=1 a=0.01
c, P(c,) P(cy) SMSE P(c,) P(cy) SMSE
0.2 0.01000 0.01008 9.42E-06 0.01000 0.00970 7.T74E-06
0.3 0.04724 0.04786 5. 25E-05 0.06238 0.06151 4.72E-05
0.4 0.16992 0.17157 1. 35E-04 0.25263 0.25219 2.16E-04
0.5 0.43912 0.44111 3. 12E-04 0.61963 0.61896 1.94E-04
0.6 0.77740 0.77826 1.87E-04 0.92163 0.92071 7.70E-05
0.7 0.96802 0.96772  3.02E-05 0.99691 0.99679 3.52E-06
0.8 0.99939 0.99930 6. 58E-07 1.00000 1.00000 2.45E-11
0.9 1.00000 1.00000 4.90E-15 1.00000 1.00000 7.19E-24
1 -
0.9 -
0.8 -
07 - /!
06 - —m— n=20 r=1 s=1 fidEH
---fr--- n=20 r=1 s=1 FRIE
05 1 -—@--n=30r=1s=1 {9 EH
04 = ¥ —n=30r=1 s=1 F{BEREIE S
0.3 -
0.2 -
0.1 -
D T T T T T T T 1

0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

W21 al¥F kFa=0012%"5Hr=1s=17 > 3 &G radp ikt 4 HgT 28 (P(c)
E @ (P(c))z BA) -
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%27 LR F kFa=0012% Uhder = Ls =27 » & &4 oudy ot U RS 39 (P(c)

#35 5(P(c;))* SNSE -

n=20 r=1 s=2 a=0.01 n=30 r=1 s=2 a=0.01
c, P(c,) P(cy) SMSE P(c,) P(cy) SMSE
0.2 0.01000 0.01001 1. 02E-05 0.01000 0.01026 8.98E-06
0.3 0.04572  0.04570 4. 58E-05 0. 06086 0.06051 4. 66E-05
0.4 0.16174 0.16298 1. 32E-04 0. 24434 0.24436 1.84E-04
0.5 0.41864 0.42122 2. 58E-04 0.60370 0.60525 2.10E-04
0.6 0.75460 0. 75585 1. 85E-04 0.91258 0.91281 7.47TE-05
0.7 0.96006 0.95992 3. 31E-05 0.99607 0.99573 3.21E-06
0.8 0.99903 0.99909 9. 25E-07 0.99999 0.99999 9.90E-09
0.9 1.00000 1.00000 3.58E-14 1.00000 1.00000 5. 66E-23
1
09 -
0.8 -
r
0.7 - /!
/ S
06 - —m— n=20r=1s=2 {8 EH
--+fy--- n=20 r=1 5=2 FIEEREE
05 7 - —@--n=30 r=1 s=2 e 1
04 - = ¥ = n=30r=1 s=2 f{EHFIEN
03 -
0.2 -
01 -
D T T T T T T T 1

0.2 0.3 0.4 05 0.6 0.7 0.8 09

F12.2 A ¥ kifa=0012% Thsr=1,s =27 » & & 4 och el 24 Wt 308 (P(c) &

2 E(P(cy))2 B
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% 2.8 ¥ kFa=0012% Vhdr=1,5s=37 » & & oadyibatk 24 T HE0P(())

#35 5(P(c;))* SNSE -

n=20 r=1 s=3 a=0.01 n=30 r=1 s=3 a=0.01
c, P(c,) P(cy) SMSE P(c,) P(cy) SMSE
0.2 0.01000 0.01053 1. 26E-05 0.01000 0.01002 8. 98E-06
0.3 0.04419 0. 04450 4. 26E-05 0. 05935 0.05937 b5.16E-05
0.4 0. 15358 0.15320 1. 40E-04 0.23604 0.23654 1.85E-04
0.5 0.39776 0.39778 2. 01E-04 0. 58728 0.58663 2.26E-04
0.6 0. 72986 0.72901 1. 97E-04 0. 90258 0.90251 9. 37E-05
0.7 0. 95026 0.95105 3. 87TE-05 0.99500 0.99499 4. 71E-06
0.8 0. 99846 0.99833 1. 62E-06 0.99999 0.99999 9.91E-09
0.9 1.00000 1.00000 2. 60E-13 1.00000 1.00000 4.43E-22
1 -
0.9 -
0.8 -
/s
07 - /!
06 - / —m— n=20r=1 s=3 Y& H
-ofpe-- n=20 r=1 s=3 A8 E N
05 1 -—@--n=30r=1s=3 {9 EH
0.4 - — ¥ —n=30 r=1 s=3 FY{RHEFHIE
0.3 -
0.2 -
0.1
D T T T T T T T 1

0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

W 2.3 Al ¥ kFa=0012%"T58r=1,5=37 > 2 &G radp ikt 4 T 28 (P(c)
E @ (P(c))z BA) -
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2.9 AHF K Fa=0012% "Vhlr=2,5=17 » & & oadg btk 24 T 58 P(c))

#35 5(P(c;))* SNSE -

n=20 r=2 s=1 a=0.01 n=30 r=2 s=1 a=0.01
c, P(c,) P(cy) SMSE P(c,) P(cy) SMSE
0.2 0.01000 0.01005 1. 10E-05 0.01000 0.01009 7.91E-06
0.3 0. 04572 0. 04597 3. 32E-05 0.06086 0.06037 b5.T9E-05
0.4 0.16174 0.16470 1. 33E-04 0.24434 0.24162 1.79E-04
0.5 0.41864 0.42179 1. 96E-04 0.60370 0.59977 2.56E-04
0.6 0. 75460 0. 75636 1. 34E-04 0.91258 0.91138 6. 73E-05
0.7 0. 96006 0.96031 3. T3E-05 0.99607 0.99599 4.02E-06
0.8 0.99903 0.99904 8. 98E-07 0.99999 0.99998 1.97E-08
0.9 1.00000 1.00000 3. H8E-14 1.00000 1.00000 5.66E-23
1 -
0.9 -
0.8 -
s
07 Vi
A
06 - —m— n=20r=2 s=1 s H
-ofpe-- n=20 r=2 s=1 FYiEIEEEE N
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#2.10 AR F R Ba=00182%kV2Br=2,s=27 Z2 &4 Fondn ik 4 ﬁ-%«g&lfjlﬁ(P(C‘l))

2 3 @ (P(cy))% SMSE -

n=20 r=2 s=2 a=0.01 n=30 r=2 s=2 a=0.01
c, P(c) P(cy) SMSE P(c,) P(c;)  SMSE
0.2 0.01000 0.00992  7.88E-06 0.01000  0.00930 8.94E-06
0.3 0.04419  0.04373  3.57E-05 0.05935  0.05802 5.46E-05
0.4 0.15358  0.15285  1.70E-04 0.23604  0.23555 1.63E-04
0.5 0.39776  0.39656 2. 99E-04 0.58728  0.58562 2.37E-04
0.6 0.72986  0.72872  1.88E-04 0.90258  0.90091 7.49E-05
0.7 0.95026  0.95019  4.35E-05 0.99500  0.99484 5. 14E-06
0.8 0.99846  0.99832 1.80E-06 0.99999  1.00000 1.75E-10
0.9 1.00000 1.00000  2.60E-13 1.00000 1.00000 4.43E-22
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2211 BBg¥ ko= 0012% T4l =25 =37 » & &5 rciy etk 4 2391 (P(cy))

2 3 @ (P(cy))% SMSE -

n=20 r=2 s=3 a=0.01 n=30 r=2 s=3 a=0.01
c, P(c,) P(cy) SMSE P(c,) P(cy) SMSE
0.2 0.01000 0.01008 9. 36E-06 0.01000 0.01039 8.25E-06
0.3 0.04266 0.04275  3.60E-05 0.05783 0.05835 5.51E-05
0.4 0.14546 0.14695 1. 33E-04 0.22774 0.22833 1.41E-04
0.5 0.37653 0.37880  2.93E-04 0.57038 0.57179 3.01E-04
0.6 0.70308 0.70141  2.50E-04 0.89154 0.89166 1.01E-04
0.7 0.93822 0.93768  5.42E-05 0.99365 0.99363 5.21E-06
0.8 0.99757 0.99757  2.89E-06 0.99998 0.99997 2.92E-08
0.9 1.00000 1.00000 1.86E-12 1.00000 1.00000 3.45E-21
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2212 BB F KBa=0012% Thlr =35 =17 » & & 5 ey etk 4 T 39w (P(ey))

2 3 @ (P(cy))% SMSE -

n=20 r=3 s=1 a=0.01 n=30 r=3 s=1 a=0.01
c, P(c) P(cy) SMSE P(c,) P(c;)  SMSE
0.2 0.01000 0.01062 1.26E-05 0.01000  0.00992 1.08E-05
0.3 0.04419  0.04520  4.30E-05 0.05935  0.06022 6.17E-05
0.4 0.15358  0.15486  1.28E-04 0.23604 0.23755 1.60E-04
0.5 0.39776  0.40107  2.44E-04 0.58728  0.59093 2.40E-04
0.6 0.72986  0.73284  2.38E-04 0.90258  0.90317 8.98E-05
0.7 0.95026  0.95020  4.46E-05 0.99500  0.99486 5. 14E-06
0.8 0.99846  0.99845 1.39E-06 0.99999  0.99999 9. 91E-09
0.9 1.00000 1.00000  2.60E-13 1.00000 1.00000 4.43E-22
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2.13 AR F L Ba=0012%k"V%8r=3,s=2T7 E &4 Fondn ik 4 ﬁ-%«g&lfjlﬁ(P(C‘l))

2 3 @ (P(cy))% SMSE -

n=20 r=3 s=2 a=0.01 n=30 r=3 s=2 a=0.01
c, P(c,) P(cy) SMSE P(c,) P(cy) SMSE
0.2 0.01000 0.01021 9. 05E-06 0.01000 0.00971 9.27E-06
0.3 0.04266 0.04335 3.87E-05 0.05783 0.05745 5.54E-05
0.4 0.14546 0.14781 1. 21E-04 0.22774 0.22875 1.53E-04
0.5 0.37653 0.37702 2. 34E-04 0.57038 0.57222 2.15E-04
0.6 0.70308 0.70416  1.97E-04 0.89154  0.89007 9.51E-05
0.7 0.93822 0.93832 5.06E-05 0.99365 0.99351 6.95E-06
0.8 0.99757 0.99780 2.31E-06 0.99998 0.99999 1.00E-08
0.9 1.00000 1.00000 1.86E-12 1.00000 1.00000 3.45E-21
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2214 BBF-KBa=00123% T4l =3,5 =37 » & & 5 et etk U4 T 0@ (P(ey))

2 3 @ (P(cy))% SMSE -

n=20 r=3 s=3 a=0.01 n=30 r=3 s=3 a=0.01
c, P(c) P(cy) SMSE P(c,) P(c;)  SMSE
0.2 0.01000 0.01028 1.17E-05 0.01000  0.00974 6. 70E-06
0.3 0.04112  0.04079  3.76E-05 0.05632  0.05611 6. 38E-05
0.4 0.13736  0.13529  1.56E-04 0.21944  0.22115 2.09E-04
0.5 0.35495 0.35316  2.91E-04 0.55301  0.55527 2.40E-04
0.6 0.67417  0.67388 2. 77E-04 0.87939  0.88215 1.08E-04
0.7 0.92349  0.92351  8.99E-05 0.99196  0.99216 7.44E-06
0.8 0.99619  0.99620 4.22E-06 0.99996  0.99995 4.77E-08
0.9 1.00000  0.99999 9.94E-09 1.00000 1.00000 2.66E-20
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%215 A F K Fa=00523 ks =15=17 » & &4 cty ot U RS 39 (P(c))

2 3 @ (P(cy))% SMSE -

n=20 r=1 s=1 a=0.01 n=30 r=1 s=1 a=0.01
c, P(c) P(cy) SMSE P(c,) P(c;)  SMSE
0.2 0.05000 0.05033 5.71E-05 0.05000 0.05078 5.56E-05
0.3 0.15336  0.15417  1.38E-04 0.18818  0.19063 1.94E-04
0.4 0.36769  0.36910 2. 74E-04 0.48046  0.48322 3. 14E-04
0.5 0.66521  0.66638  2.28E-04 0.81208  0.81401 1.80E-04
0.6 0.90370  0.90405 7.50E-05 0.97484  0.97510 2.60E-05
0.7 0.99051  0.99139  9.35E-06 0.99939  0.99937 T7.93E-07
0.8 0.99988  0.99988  1.06E-07 1.00000 1.00000 3.42E-13
0.9 1.00000 1.00000 7.95E-17 1.00000 1.00000 3.47E-26
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#2.16 A F K Ba=00582%V2fr=1s=27 E &4 Fondn ik 4 ﬁ-%«g&lfjlﬁ(P(C‘l))

2 3 @ (P(cy))% SMSE -

n=20 r=1 s=2 a=0.01 n=30 r=1 s=2 a=0.01
c, P(c,) P(cy) SMSE P(c,) P(cy) SMSE
0.2 0.05000 0. 05068 4. 08E-05 0.05000 0.05010 5.00E-05
0.3 0.14968 0. 15161 1. 23E-04 0.18483 0.18381 1.45E-04
0.4 0.35534 0.35762  2.47E-04 0.47001  0.46879 2.34E-04
0.5 0.64594 0.64416 1. 83E-04 0.80064 0.80024 1.42E-04
0.6 0.89033 0.89090 9. 75E-05 0.97113 0.97025 2.65E-05
0.7 0.98760 0.98766 1.22E-05 0.99919 0.99912 7. 71E-07
0.8 0.99980 0.99987 1.38E-07 1.00000 1.00000 1.01E-12
0.9 1.00000 1.00000 6.67E-16 1.00000 1.00000 3.05E-25
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2217 BB ¥ ko= 0052% T4l = 1,s =37 » & & 5 ey etk 4 T 321 (P(cy))

2 3 @ (P(cy))% SMSE -

n=20 r=1 s=3 a=0.01 n=30 r=1 s=3 a=0.01
c, P(c,) P(cy) SMSE P(c,) P(cy) SMSE
0.2 0. 05000 0.04939 4. 36E-05 0. 05000 0.05006 4. 28E-05
0.3 0. 14595 0. 14518 1. 02E-04 0.18146 0.17952 1.23E-04
0.4 0.34277 0. 34376 1. 94E-04 0.45938 0.45901 2.54E-04
0.5 0. 62569 0. 62757 2. 65E-04 0.78856 0.78562 1.69E-04
0.6 0. 87521 0. 87487 7. 80E-05 0. 96691 0.96650 3.13E-05
0.7 0. 98383 0. 98398 1. 31E-05 0.99893 0.99887 8.37E-07
0.8 0. 99966 0.99961 4. 01E-07 1.00000 1.00000 2.95E-12
0.9 1.00000 1.00000 h.H7E-15 1.00000 1.00000 2.67E-24
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%218 BB ko= 00581 Thlkr =25 = 17 » & &4 »cdy ith 24 BT 15 (P(o)))

2 3 @ (P(cy))% SMSE -

n=20 r=2 s=1 a=0.01 n=30 r=2 s=1 a=0.01
c, P(c,) P(cy) SMSE P(c,) P(cy) SMSE
0.2 0. 05000 0.04979 5. 00E-05 0.05000 0.05035 5.83E-05
0.3 0. 14968 0. 14990 1. 36E-04 0.18483 0.18283 1.36E-04
0.4 0.35534 0.35638  2.59E-04 0.47001 0.46748 2.82E-04
0.5 0. 64594 0.64693 2. 33E-04 0.80064 0.80132 1.65E-04
0.6 0.89033 0. 88986 1. 05E-04 0.97113 0.97165 2.42E-05
0.7 0.98760 0.98787 1. 23E-05 0.99919  0.99924 8.45E-07
0.8 0. 99980 0.99983 1. 62E-07 1.00000 1.00000 1.01E-12
0.9 1.00000 1.00000 6. 67E-16 1.00000 1.00000 3.05E-25
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#2.19 AR F R Ba=00582 %" V2 Br=2,s=2T7E2 ¥ Fondn ik 4 ﬁ-%«g&lfjlﬁ(P(C‘l))

2 3 @ (P(cy))% SMSE -

n=20 r=2 s=2 a=0.01 n=30 r=2 s=2 a=0.01
c, P(c,) P(cy) SMSE P(c,) P(cy) SMSE
0.2 0.05000 0.05068 4. 24E-05 0.05000 0.04983 3.75E-05
0.3 0.14595 0.15161 1.21E-04 0.18146 0.18095 1.52E-04
0.4 0.34277 0.35762 2.41E-04 0.45938 0.45718 2.55E-04
0.5 0.62569 0.64416  2.10E-04 0.78856  0.78879 1.47E-04
0.6 0.87521 0.89090 1.09E-04 0.96691 0.96786 3.24E-05
0.7 0.98383 0.98766  1.33E-05 0.99893 0.99888 1.11E-06
0.8 0.99966 0.99987 2. 78E-07 1.00000 1.00000 2.95E-12
0.9 1.00000 1.00000 5.57E-15 1.00000 1.00000 2.67E-24
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22,20 BEF KEa= 00588 Lhlkr = 2,5 = 37 » & &4 vedy itk 24 BRI 51 (P(o))

2 3 @ (P(cy))% SMSE -

n=20 r=2 s=3 a=0.01 n=30 r=2 s=3 a=0.01
c, P(c,) P(cy) SMSE P(c,) P(cy) SMSE
0.2 0.05000 0.05007 5.01E-05 0.05000 0.05027 4.89E-05
0.3 0.14216 0.14277 1.05E-04 0.17806 0.17820 1.48E-04
0.4 0.32998 0.33037 2. 76E-04 0.44858  0.44915 2.38E-04
0.5 0.60441 0.60460 2. 35E-04 0. 77581 0.77464 1.37E-04
0.6 0.85814 0.85728 1.11E-04 0.96209 0.96243 3.68E-05
0.7 0.97895 0.97779  2.08E-05 0.99859 0.99885 9. T74E-07
0.8 0.99943 0.99941 6. 42E-07 1.00000 1.00000 &8.62E-12
0.9 1.00000 1.00000 4.61E-14 1.00000 1.00000 2.33E-23
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22,21 BEF kKEa= 00588 Thlkr=3,s = 17 » & &4 »cdy iith 24 BT 51 (P(o)))

2 3 @ (P(cy))% SMSE -

n=20 r=3 s=1 a=0.01 n=30 r=3 s=1 a=0.01
c, P(c,) P(cy) SMSE P(c,) P(cy) SMSE
0.2 0.05000 0.05004 2. 71E-05 0.05000 0.05018 4.76E-05
0.3 0.14595  0.14482 1.22E-04 0.18146 0.18146 1.22E-04
0.4 0.34277 0.34151 2. 26E-04 0.45938 0.45929 2.66E-04
0.5 0.62569 0.62569 2.62E-04 0.78856 0.78868 1.64E-04
0.6 0.87521 0.87466 9. 37TE-05 0.96691 0.96660 3.26E-05
0.7 0.98383 0.98362 1.42E-05 0.99893 0.99891 1.14E-06
0.8 0.99966  0.99953 4.86E-07 1.00000 1.00000 2.95E-12
0.9 1.00000 1.00000 5.57E-15 1.00000 1.00000 2.67E-24
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#2.22 AR F R Ba=00582%k"V4fr=3,s=2TFE 44 Fondn ik 4 ﬁ-%«g&lfjlﬁ(P(C‘l))

2 3 @ (P(cy))% SMSE -

n=20 r=3 s=2 a=0.01 n=30 r=3 s=2 a=0.01
c, P(c,) P(cy) SMSE P(c,) P(cy) SMSE
0.2 0. 05000 0. 04909 4. 03E-05 0. 05000 0.05094 4. 35E-05
0.3 0.14216 0.14190 8. 44E-05 0.17806 0.17720 1.63E-04
0.4 0. 32998 0. 33055 2. 18E-04 0. 44858 0.44987 2.57E-04
0.5 0.60441 0. 60457 2. 85E-04 0. 77581 0.77433 1.37E-04
0.6 0. 85814 0. 85957 1. 05E-04 0.96209 0.96285 2.90E-05
0.7 0.97895 0.97844 1. 82E-05 0. 99859 0.99844 1.51E-06
0.8 0.99943 0.99942 h. 84E-07 1.00000 0.99999 9. 95E-09
0.9 1.00000 1.00000 4.61E-14 1.00000 1.00000 2.33E-23
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22,23 BB F KFa= 00588 Thdkr = 3,5 = 37 » & &4 vedy itk w4 BRI 51 (P(o))

2 3 @ (P(cy))% SMSE -

n=20 r=3 s=3 a=0.01 n=30 r=3 s=3 a=0.01
c, P(c,) P(cy) SMSE P(c,) P(cy) SMSE
0.2 0. 05000 0. 04895 4. 83E-05 0. 05000 0.04985 5. 98E-05
0.3 0.13832 0. 13653 1. 14E-04 0.17463 0.17465 1. 75E-04
0.4 0. 31695 0.31514 1. 74E-04 0.43759 0.43798 2.10E-04
0.5 0. 58207 0.58100 2. 42E-04 0.76237 0.76174 1.96E-04
0.6 0. 83889 0. 83866 1. b5E-04 0. 95659 0.95612 3. 90E-05
0.7 0.97264 0.97274  2.46E-05 0.99814  0.99808 1.50E-06
0.8 0.99905 0.99914 8. 29E-07 0.99999 0.99999 9.92E-09
0.9 1.00000 1.00000 3.80E-13 1.00000 1.00000 2.03E-22
1

09 -

0.8 -

0.7 A ff

DE - —m— n=20r=3 s=3 YdEEh

#r--- n=20 r=3 =3 {8 EEEE

037 -=@=-n=30r=3 s=3 {I&TE T

0.4 — ¥ —n=30 r=3 s=3A{EEREE D

0.3 -

02 -

01 -

0

0.2 03 0.4 05 0.6 0.7 0.8 09

W 2.18 (87 ¥k Ba = 0.05% 3% "L hder = 3,5 = 37 + & b 4 ek el 14 R T 0 (Plo) ¥
5 5(P(cy) 2 WA -
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%224 LEEF K Fa=001- $¥Ec=3 PHEC, =035 AT AL=17 » & S Hoch ik

2 Gk (1= a) B 1 22 SHSE -

a=0.01,c=3

(n,1,5) 1-a SMSE

(20,1, 1) 0. 98983 9. 63E-05
(20,1,2) 0.99018 9. 78E-05
(20,1,3) 0. 98988 1. 02E-04
(20,2, 1) 0. 99082 1. 00E-04
(20,2,2) 0.99007 9. 75E-05
(20,2,3) 0. 99007 9. 95E-05
(20,3,1) 0.99030 1. 02E-04
(20,3,2) 0. 98929 9. 99E-05
(20,3,3) 0.97701 4. 03E-04
(30,1, 1) 0. 98983 1. 04E-04
(30,1,2) 0. 99032 9. 00E-05
(30,1, 3) 0. 98978 9. 48E-05
(30,2, 1) 0. 99040 9. 40E-05
(30,2,2) 0. 98988 1.07E-04
(30,2, 3) 0. 99090 1. 02E-04
(30,3, 1) 0.99023 9. 87E-05
(30, 3,2) 0.99004 9. 36E-05
(30, 3, 3) 0.99016 9. 82E-05
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42,25 GBF kEa=005 f$Hcimc=3 pREC, = 035f{aT AL=17 > & b5 rcdy 1

2 Gk (1= a) B 1 22 SHSE -

a=0.05c=3

(n,1,5) 1-a SMSE

(20,1, 1) 0. 95001 4. 94E-04
(20,1,2) 0.95010 4. 70E-04
(20,1,3) 0. 94987 4. 80E-04
(20,2, 1) 0. 95059 4. 53E-04
(20,2,2) 0. 94963 4. 68E-04
(20,2,3) 0. 95046 4. 80E-04
(20,3,1) 0.94999 4. 67E-04
(20,3,2) 0. 94976 4. 56E-04
(20,3,3) 0.95011 4. 57E-04
(30,1, 1) 0. 95039 4. 41E-04
(30,1,2) 0.94961 4. 90E-04
(30,1, 3) 0. 94962 4. 80E-04
(30,2, 1) 0. 94929 5. 06E-04
(30,2,2) 0. 94995 4. 70E-04
(30,2, 3) 0. 94983 4. 39E-04
(30,3, 1) 0. 94987 4. 79E-04
(30, 3,2) 0.94947 4. 82E-04
(30, 3, 3) 0. 94890 4. 92E-04
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% 2.26

2

4

#icc ~ 02 SSE en¥t i &

c 0 SSE c 0 SSE
3. 00 7.9307 0.23519 3.50 9. 2456 0. 23428
3.05 8. 0621 0. 23499 3.55 9. 3772 0.23429
3.10 8.1934 0.23482 3. 60 9.5088 0.23430
3.15 8. 3248 0.23468 3. 65 9. 6405 0.23433
3.20 8. 4563 0. 23456 3.70 9. 7722 0.23437
3.25 8.5H878 0.23447 3.75 9.9039 0.23442
3. 30 8. 7193 0. 23440 3. 80 10. 0356 0.23447
3.35 8. 8508 0.23434 3. 85 10. 1674 0.23453
3. 40 8.9824 0. 23431 3.90 10. 2991 0. 23460
3.45 9.1139 0.23429 3.95 10. 4309 0.23467
2 S
\ :
\O o/o/
3 N %
& "\
| I | st | | I
3.0 3.2 3.4 36 3.8 4.0

Bl 2.19 c £ SSE Bk 7% ]
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‘é%x— . Burr XII # ge

PR BEUHZ 11, b2 Lot zs oo ooy Lnos 5 3 ARIDZ 2 % AR b A fiech ¥ S dicdy #4 fe Exp(k)

FE Yo =In(1+Xy9) > o0 SEREEHE > B Y~Expk)
K Zrpr = (M =1)Yq41)
Zi=(—i+ ¥y —Y-p) > i=r42, on-s > # 9 Y o i=r+1n—s> 22§ A3

( Zy+1 = (n— r)Y(r+1)
Zryz = (M =T = D(yar2) — Yar+1))
Zyy3 = (1’1 —r— 2)(Y(r+3) - Y(r+2))

\ Zp_s = (s+ 1)(Y(n—s) - Y(n—s—l))

( 1
Yo+ = mzr+1
1 1
Ya+2) = 1 %re2 u o7 et
=5 1 1 1
Yar+3) = 5 Zre3 & WA ¢ Ay 2y A
1 N 1 1
| Yo-9) = 77 %ns + -t S ST +m Zryz T T Art
Y (ri1) O ) 1
r+1) 9¥Y@+1) Yr+1) 0 . 0
aZr+1 aZr+2 ...... aZn—S n E r 1

0Y(r+2) 0Y(r+2) Y (r+2) 0 ST |

aZr+1 aZr+2

=] =10y¢+3) 0Y(r+3) 0Yrr3)| =
T aZH? ......

aY(n—s) aY(n—s) aY(n—s) 1 1: : 1 1
aZr+1 aZr+2 .....

T-PDm—r—Dm—-1-2)..(s+1)

EI'JZI""I‘ ZT+2‘ Zr+3, ....... 5 Zn_s—i E?}‘}i-' g ﬁﬁ:\-‘?: % }i lﬁ"g{é
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...... fY(n—s)) .

=e

= ke Kirt1. ke~ Klrvz . ko~ KZris ke~ KZn-s
= th+1 (Zr+1) ' th+2( Zr+2) et h’Zn_S( ZH—S)
Sl b AT EEZ e, Zrn Losgs oo Los S

A2 Rk pAple & peinl Sl dics fe Exp(k) e
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2R I BU- R A R EFREMARLASDE YK

AFFARRPF A2 EFIRAGREAS e @ % A - XUk A TR E A Bhd & 5k
i G g B AR F 328 5 AR - RNT 0 F etk E
33FLEF A g RS 34 F L F Atk R 2 BHREZ V535 & G

oot B RF 3085 E e adpRl B BT E F RASRAES 3.7 85 KiE
A A P 7

$o1 -
3.1 A& & 3 ocd

B A &2 & ¢ X PRJE4& B 4 fie (Extreme Value distribution) » # % 5 % & & #c(probability
density function,p.d.f.) ~ % ## 4 2 3 #ic(cumulative distribution function,c.d.f.) 17 % & 5 S dic

(hazard function) # %|4c 7 :

f(x) =zexp(=E - exp(5h)) (3.1)
F(x)=1- exp(—exp(%)) (3.2)
h(x) = %exp(%) (3.3)
HY v —o0<x<0» —c0o< <00 '0>0-P:=% 58> 05 R ¥
1 X-B

;ﬁ d SWBH4Y = g€ o RIY € PRI HE ﬁﬂdﬂ $o fie o H 8 5 R Ofic(probability density

function,p.d.f.) ~  # 4 fiz & #ic(cumulative distribution function,c.d.f.) ™ % # 4 5 & #ic(hazard func-
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tion) & %] & :

fr(y) =6e7%,y>0,6>0 (3.4)

F(y)=1-e% ,y>0,6>0 (3.5)
h() =L —g y>0,6>0 (3.6)
Y 1-Fy(y) ’ ’ :

BER R TEI 2 A ST E Y2 TiofkE R L A w4

u=EY¥) =< (3.7

o=.Var(Y) =% (3.8)
B(3.7)~ (B8N R H = Fehiz B w(2.7)5% > PIE &S gk 7 e g =

1
CL=“—‘L=/9 ANELY: (3.9)

@é%%‘r%@?‘lileiag%>LE% P E A F R, >0 0 (39T HFR ﬁéﬁ« v H o

BAA] > A f g ochth At o F o FAR ] Hetd gAr o R hochiR g

WA SR R o RER SR B (A A PR RR S B R E R

45 v

S SRS BIRES D Rt W R IS Y P A IR S S R B S

F_‘-
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B3R Xrat) < Xirazy < < Xnogy o % B HBE A - 4] = U A (T Afl A s n 2
oA r BHRALER Vs BHRAOTEREIN-—s—r BHE A AW EH T R A S H(p.df)

Ho7F

fX(r+1)rX(r+2)r---rX(n—s) (X(r+1), X(r+2)s s X(n_s))

= st [ X(x(r+1))] [1 - FX(x(n—S))]S 3 | i fX(x(i))

il e (—em (5] x {1 - [1 - exp (e (2375}

X BI85 exp(C2L — exp(E) (3.10)

r's'

ON
FR Y(i):%e 6 r—o<x<®w —o<f <o B Yy ci=sr+lan—s- 557G dpls e

® Zr+1 - (Tl r)Y(r+1)
Z;

=Mm—-i+ Dy —Ye-p) °

d Bickel 22 Doksum(1977)(p.46) ¥ ZE 18 Zy 11, Zyt2) Zyyzy o veirLpes o T AR 2 K p AP 2 H

$¥icty oA fe Exp(6) 0 o s @ hv e

4 i =i+ DYy — Yu-1) » BIW ~ Gamma(n —s —1,6) -

2=

BI~x*2(n—1—15)) (3.11)

d pb ¥ i
EF[20W] =2(n—r —5)
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n—-r-—s

':"‘i"l',{ )

F = w (3.12)

n—-r-—s

. P v L FIVIN s S v L . A PRS
CERARTALE A0 =1L s 6P R0 =1-2 AC N Es:

E(T)=E(1-%)=1-LxE(3)

=1—L(n—s—r)x%xE(%) (—,’f—!"¥~x2(2(n—r—s)))

=1—("**)x§ (3.13)

n—-s—-r—1

#3132 D7 E(CD#C 0 FIt 2 G 3 20, - BA KGR o 8 5 f- BCH7

BEE o HORE G

G =1 b ((2) =g - Mo 3.1

n—s—r

KO 6 AC - B R E -
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3.3 & & ¥ ocdpihCy ek XATR

GNP E REEL 2 AR AR EC FEET L NI RY XAEA RS
EERER fo Tt ,’ét_ﬁ“é:ﬁj;&-@if#— B Atk TR KT —‘,3%—\: & I&}ﬁﬁ'ﬂ’«l—\? FEFr R 2ok

® o

Bk TR fehd & G ondptRE < et 0 B¢ "L P R (target value) ¢ BT e 2 Hp: Cp < c¢”
(& &G redgfRCLAE AT Ferk B)EH: CL > (T E S5 radpthCLe E o7 Ravk )2 B

KW RALS o J1* CLz BB ITa Ay RESRT A7 5{C/C[>C} 27 Coi T
A g

AU AT R E R B BIES AR RR (P LR b 8 o st a %

REF K EaT o TR 0T Ak AT

sup P(C] > Cy) = a

PE>GClC=c)=a 8 G=1=10r0 g = L

L(n—-s-r-1)

= P(1-— >Co/1—£=c*)=a
L(n—-s-r-1) , 1 1-c*
SPw > —li=T) =«

2w 2L(n—-s-r—-1) 1 1-c*

=>P(—> - = =
( T (1l —Cy) I8 L )=«
2w 2(n-s—r-1)(A-cN\ _
:P(n> (1-Co) )—a
2w _ 2(n-s—r-1D(A-c)\ _ . L Hg W .2 o
= p(n < ey )_ l—a 8¢ Z~y?Q2n—7-5)) (3.15)

2(n—s-r-1)(1-c*)

_ Xl a(Z(n—s—r)) c;)(1 a(Z(n—S—T‘))z\‘T pd
(1-Cp)
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Bi2m—s—r)2+ 2 »feaT (1 —a)s #c(lower (1 — a)th quantile) o F]pt > 7 2 B 3 g0t &
Co %

2(n—s-r-1)(1-c*)

o = s (3.16)

Becrarr s n A8 A PHRE S BFRE S 2 FRUBEo- FR VPR A Bl £
3.1 224 3.2 2874 da=001fra=0.05T r=1(1)3+s=1(1)3~c*=0.1(0.1)0.9 - n=8 (1)20 -

m=n-—s—rr* Rk EC -

A(3.16)58 % » FE VLB =0F > T2 5C, %

2x(n—-s-1)x(1-c*)
PECICED)) (3.17)

Co=1 —
B TRk whod 3.3 A0k 3.4 -
W& 6 radg R CL2 R TAR R ) FREEIL 4o T
WA
LrthABln 2 X Wgdrfrs BRASFZ A X hpREAf  HBFI PR IEE FH#

A e sl (30158 3 (3.2)5 0 £ Xy 5 IRAGER B A e P = % Uk d BV i=r+1,...n—s

r,s <n RFy (X)o7 E(% 3 Wuetal (2007)) = -

E(Fe(Xp)) == i=r+1..n—sms<n (3.18)

5 U—H« T X)) “P— 1—exp(—exp((xqy — B)m)) » #XF HIFHEE > 5§ prBe
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é‘fﬁz ’ 'T] LUt ﬁ‘l/,u \,’irﬁ'{‘f\ﬁi .

In(1—- n%l) ~—e COBT j=ry1, ... n—s (3.19)

Flw o) T3 T REE

\\\Xr

BBt A% T E 0 # FE AT > fe(error sum of square, SSE)

B o ="l”mln{ i r+1[ln( ln(l——)) (X — ﬁ)]z}a W FEERFEBE FRFGITE -

H A=
TH AR 2 K VS Erfrs &5 A X%k pieid A fe il = KUk 2 Xy <
Xoan) < <Xegy(FA XL 5 nem@ i s > 2R ArBiEc > L3R s BHRA > TR

X@w=#
FIn—s—r BEPE) JI* FHRER LY = %e B~ Vr+ 1, ... n—s° Y1) < Yoio) <

W< Vpogy s R p H Sl fion e cn R - RUR A o

ﬁ?ﬁi:

AE AR AR TR L PRGC U B RAEFE Ko MTEHENHEC < (2
3 6oy O AL S R OE) B H: CL > C (3 7 3 6§ ocdy R0 e &9 g RavkE ) shig

HARE

FI#* (3 12)58 RER > R F » (3. 14)5% > BIF 35 I €33t £ i

HRI .
RfpbznpRiEc ~fkidlen X LSdrfes W2 BF K Fa> FEL 3.1 fv% 3.2 F

v 1 54D TR R ., -
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#H 2
L ﬁiCLﬂfL"COT fad i o H AR el pldeT
O #C[>Co> RIIESH, > 27324 Hihd b G cdpih ) EDURF LA T 75 Rk o
® £C, <Co> Bl H4EFHy 4 7 %A &ehd & Foxip il F EIIRF S AL TF Rk o

-

m % ‘t ﬂkgzr =0fF > 5§ Al = 2% ’r”}ff A~ - IB;}’a I JX(l) < X(Z) < < X(n—s):"‘:“ - B

i EA Rt 3 o WU AR A ) S nag R E AT o RRRFIn-sBASER) AP

TR 3.2 HemE s R A Ak L B R oA o TR 3.3 8 E &k

a

e AR I XA FEFF EFE Rk o q Clatk 24 0 B4 3.4.3 8¢ it o

3.4 Aagrxipfhi e 2 HHREZ VR

3.4.1 & 4 Hoch L s Sk

Wi

AR TR T4 TR DARIES b A B o135 3.3 & BRI TR AR Tm &

B He: CL S c™ et = B3k Hy: Cp > ¢ > B 5 g Tenie T4 Sl 4o

LRFEABHED S RUEA B s(rs<n) M2 EE ko 2 FLBL{C]>C) B¢

B _Zx(n—s—r—l)x(l—c) , 3., 4 .
Co=1 e $CL=c(>c) 0 BE &S radp ikt 24 Ple) s

Pley)=PC>Col Cy=cy) » # ¢ (] =1-=T e, =12

L(n-s-r-1) > 1 Z(n—s—r—l)(l—c*)/ L

=P - w T 2 (2n=-s-1)) Tr €1)

(n—-s-r-1)(1-c*) L(n—-s-r-1) 1_1-¢
_P(leaa(nsr)) v lz=)

Ly?_,(2(n-s-r)) 1-c
- P(Z > = 0‘1 -c* In’ Ll)
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2 —o— —
_ P(m> Xi—a(2(n-s-1))(1 61))

T 1-c*

2 —5— —
—1—Pp (% < Xi-q(2(n—-s-1))(1 C1)) JH %NXZ 2n—s—r1)) (3.20)

1-c*

ST L (s e Eenk ? AW TR R TS BB I AR RNl e B e R

Pk 534205t e A F RV ABr =0/ > » ¥ %3200 RA TS o
342U NFETLHTS hE EARIREZ VR

1995 3.4, 1 v E g T4 Sl A2 1% 52 + B (Monte Carlo) ikt > 23+ 8 & &.

seka fhente 24 B RA 6 8ok el L9 POe)BHRZ H Be

A
O rulbzpEiEc < <)% 5B THREAIL-BF LEa KU+
#rosEkAHKno

@ &ﬁ'{lﬂﬂ?'f )}"CL—l__‘CIIF";'J CL<1°

@ FI* T HHRS S n Lk p 95 AU EBHE AU, Uy, ., Uy S8R5 F 58 4

/??' ’}’7{ ~ U(l)! U(Z)r ey U(n) °

@ 5o @HX = [ﬁ +=In[-In(1 - Ugy)] ] vi=1,2,.,n 0 B (X Xy oo Xy ) Bk
At dom R Slicde(3. D dh- B B A

® $£4 #5161 feis sH o 0 BT LA F B ARUE R S Xy < Xoagy < o <

N Xk
Xn—s) * I, S<n° F A2 F 1Y =%e 6 »i=r+1,r+2,.n—s-

® f1* @B I fdinz G E > £ 8 r B IS RNE S kG2 3 Bt E:

Z,Z -1 % x (n—s—r—l) 3

n—-s-—r

@ F1* Bx ¥ T —5(]’ >Co Pl count=1; & 2. » Pl 4k count=0> 2 ¢ » §aft &
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2x(n—-s—1)x(1-c*)

Co= 1 == s

HA=
@ #4 F- 45 1000 % -

Total count
— Q)
1000

@ 7R - B P(c)2 T4 HHEE:LP(q) =

-H}.?ﬁi:
@O #H 2= £45 100 =0 » P17 73] 100 B e 24 B iE &

131(01), 13;(01) s "'PIEO(Cl) °

100
Yi= 1PL(CI.)
100

@ d OH ;7 1@ F 100 B A IR T 5 L P(ey) = 2 HH AL

10075 (. y_ 2
(SMSE) % : SMSE = lﬂ”"jﬁo PCOD 319 Pley)d (3.15) 5 417

PR At Tk AN 20 2 300 PR EC =020 ¢; = 0.2(0.1)0.9+ T R4t A 1T L=] -
B¥ k= 001fra = 0.05~ % U A #K(rs)=(1,1) * (1,2) ~ (13)~ (21~ (22) ~ (2.3) ~ (3,1) ~
(32) > (33)T » &k H et Heile 24 P(c) B+ ERAck 3.5 T 4 3.22fcH 3.1 1 B 3.18 #

I+ ©

Fd £3.5343.22W312W3 18 vugFR  (DAEHTfrn ™ B34 2F @

P(cp) & it T 39iE P(C1)§ FRAUE AP rasiE- duden B0 (DN E-Brlo o

BT e ¢ rdkiT R € 2§ &0 2 H47) hfk A397 354 SMSE $R %] -
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3.5 F A kiR R

WP LA E L7 r 348 g hend iz TRA RAEE S ihd & LT 5

wF’/T
Pl R Reprk ok 5 A E ,é?%ﬁvﬁi*xiﬂ’fﬂml BREFTLTral o

)* 32 & RENC2 FIE (P BERYTERNASE ST ARER AL oo AT

ST SR AN U AT s(s<n) > I =1—2x (BE) 1w d 3.3 E Y

= 4*?% ~x(22(n o) © FI 0 BB RBERELI L —az T 0 F &SR R0, 2 100(1 — )%

W s AT 2R

P(%gxf_a(zm—s—r))) =1-a

< Bea(n=s1)

Ly 14°*
= P(%S LXl—a(Zz‘Sl:l S T‘)) ):1 —a
_L _LxieCm=s—1) 3 4 .1 _ n-s-r
>P(1--21 = )=l—a (="

d (3.21)5:8 ¥ 1218 F|Cp2- 100(1 — )%z 4§ T & (Lower confidence bound) 3 :

(1-C) X} (2(n-s-1))
2(n—s-r—1) (3 22)

LB=1 —

He o0yt ,Cn—s—1) ries A uE a7 20 hiEFEpd BRi2—s—pDz+t3n

fein™ (1 — o)A oz ~ 230U A Bl o Fpt 7 127 ]CL2 100(1 — )% s 31 T B 5
_ [, a-cDxd-a@n-s-1)
c.L.=|1 L) 0 ) (3.23)
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Mt & o CL2 B B B TR AR 2 I e

#H 2 .
CEAABHE D 2KV rfrs BRASSAXRpRELSfe BRI BRIEE AH

et (3. 134 % (3.2)3% ) £ Xy » IRIGREA e B3 - KUk 2 AP i=r+1, ... n—s:

r,s<n> PIFy (X)) 2 E( %% Wuetal (2007)) 5 -

(FX(XO))) —1,i=r+1, ...... n—s-r,s<n

= U—A FTFXo) E’P— ~1—exp(—exp((xpy—B)m)) » #NF+ BHEFEE > 5 F b B

¥fc > TR F T S B R
In(1- ﬁ) ~—e OB i=r41,.... n—s

HPent A% T E 0 # FE 4T > fe(error sum of square, SSE)

9

«N';r §,\,J‘_-I'1‘;‘{ , "‘;[ﬁf—‘“—ﬁ

B o “'r*mln{ il r+1[ln( ln(l——)) T[(X(l) ﬁ)] }’ W R T B EaBiE BREFGITE -

ﬁﬂﬁ—‘:

LA N —;%L- X kpieiEs ﬁaﬁ”%f{]: 2% LK j\X(r+1) < X(r+2) < < X(n_s)<’fi A= En

ﬁjﬁﬁﬁﬁ*ﬁj&,i%&lqlﬂll}*iﬂ\ é qullﬂ;*{ﬂ‘\vVﬁ&’ﬁ|n_s_r]]§§‘/? ]E’) ?%A_}ﬁ

Xn—B
1 2@ .
o ﬁY(i)zge o si=r+1, ... n—=5s ' MNYyrr) <Ypiz <-

< Vi B %P Rl oA

HIE] S KU A o
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F
=
In

ATz A2 FPng £0o35:64 2.1 "B e U2 3Pp R A 5373 4

a1

Xe

oo %'-v‘
h

otk > ez pREC S P AR ARIMEADRET R Lo

H AR

BEREFREL—a-

i’ﬁﬁ}’ﬁ:{:

FI# (3.22)5% > 35 M1CL2100(1 — )%z dg T R 5

. (1=C))x}_q2(n-s-1))
L—B_l 2(n—-s-r-1)

W2
AR ER e

(DFEPHEC €CL 47 %4 Hed & Fochi b2 § LIRS S E R Rk o
N

y""’l? T‘MT_Q ‘}’\m ‘%—F—r%jﬁ; FETLE.,';"(-, &?il]:?)}:lﬂ‘l‘(r:()),“(/‘:;T‘i*ij\ﬁ’;:n\
U A fes(s<n) AR E AIgE g (3. 22) 5 R EE A dp k0,2 100(1 — )% g T R

IR R FAEGARA B AR E e BB TT R E
3.6 & &Y rxhh G-k EEH + BEIRAER

AR S 0,2 100(1 — )% E B2 F o 1§+ RenlRA A 0 BR Y

k(L) o T
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#H 2 .
O AHBTCE S TRRAAL GH KL —o $8ER K"k~ Blcr s M2 4

BHEn-H¢C <1 rs<n-

\\\?{Ir

@ HiEC, = 1—% s E o ST e
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3.1 B¥F k#a=001£3 &4 EC, = ¢ = 0.1(0.1)0.9 &3k U4 dr = 1(1)3 > s = 1(1)3

'n=8(1)20°"m=n—s—rT > B REAL 2 A &FE ST RIRE EC -

m | c=0.1] c=0.2 | c=0.3 | c=0.4 | c=0.5 | c=0.6 | c=0.7 | c=0.8 | c=0.9
2 10.8644 | 0.8795 | 0.8946 | 0.9096 | 0.9247 | 0.9397 | 0.9548 | 0.9699 | 0. 9849
3 10.7859 | 0.8097 | 0.8335 | 0.8572 | 0.8810 | 0.9048 | 0.9286 | 0.9524 | 0. 9762
4 10.7312 | 0.7611 | 0.7909 | 0.8208 | 0.8507 | 0.8805 | 0.9104 | 0.9403 | 0.9701
5 | 0.6898 | 0.7242 | 0.7587 | 0.7932 | 0.8277 | 0.8621 | 0.8966 | 0.9311 | 0. 9655
6 |0.6567 | 0.6949 | 0.7330 | 0.7711 | 0.8093 | 0.8474 | 0.8856 | 0.9237 | 0. 9619
T 10.6294 | 0.6706 | 0.7117 | 0.7529 | 0.7941 | 0.8353 | 0.8765 | 0.9176 | 0.9588
8 10.6062 | 0.6500 | 0.6937 | 0.7375 | 0.7812 | 0.8250 | 0.8687 | 0.9125 | 0. 9562
9 |0.5863 | 0.6322 | 0.6782 | 0.7242 | 0.7701 | 0.8161 | 0.8621 | 0.9081 | 0. 9540
10 | 0.5688 | 0.6167 | 0.6646 | 0.7125 | 0.7604 | 0.8083 | 0.8563 | 0.9042 | 0. 9521
11 10.5532 | 0.6029 | 0.6525 | 0.7022 | 0.7518 | 0.8014 | 0.8511 | 0.9007 | 0.9504
12 10.5393 | 0.5905 | 0.6417 | 0.6929 | 0.7441 | 0.7953 | 0.8464 | 0.8976 | 0.9488
13 | 0.5267 | 0.5793 | 0.6319 | 0.6845 | 0.7371 | 0.7897 | 0.8422 | 0.8948 | 0.9474
14 10.5153 | 0.5692 | 0.6230 | 0.6769 | 0.7307 | 0.7846 | 0.8384 | 0.8923 | 0. 9461
15 1 0.5048 | 0.5599 | 0.6149 | 0.6699 | 0.7249 | 0.7799 | 0.8349 | 0.8900 | 0. 9450
16 | 0.4952 | 0.5513 | 0.6074 | 0.6635 | 0.7196 | 0. 7756 | 0.8317 | 0.8878 | 0.9439
17 10.4863 | 0.5434 | 0.6004 | 0.6575 | 0.7146 | 0.771L7 | 0.8288 | 0.8858 | 0.9429
18 | 0.4780 | 0.5360 | 0.5940 | 0.6520 | 0.7100 | 0.7680 | 0.8260 | 0.8840 | 0.9420
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3.2 B¥ k#a=00523 &4 EC, = ¢ = 0.1(0.1)0.9 f 3k "4 dr = 1(1)3 > s = 1(1)3

'n=8(1)20°"m=n—s—rT > B REAL 2 A &FE ST RIRE EC -

m | c=0.1] c=0.2 | c=0.3 | c=0.4 | c=0.5 | c=0.6 | c=0.7 | c=0.8 | c=0.9
2 [0.8103 | 0.8314 | 0.8524 | 0.8735 | 0.8946 | 0.9157 | 0.9368 | 0.9578 | 0.9789
3 |0.7141 { 0.7459 | 0.7776 | 0.8094 | 0.8412 | 0.8729 | 0.9047 | 0.9365 | 0. 9682
4 10.6518 | 0.6905 | 0.7292 | 0.7679 | 0.8065 | 0.8452 | 0.8839 | 0.9226 | 0. 9613
5 | 0.6067 | 0.6504 | 0.6941 | 0.7378 | 0.7815 | 0.8252 | 0.8689 | 0.9126 | 0. 9563
6 |0.5720 | 0.6195 | 0.6671 | 0.7146 | 0.7622 | 0.8098 | 0.8573 | 0.9049 | 0. 9524
T 10.5440 | 0.5947 | 0.6453 | 0.6960 | 0.7467 | 0.7973 | 0.8480 | 0.8987 | 0.9493
8 10.5208 | 0.5741 | 0.6273 | 0.6806 | 0.7338 | 0.7870 | 0.8403 | 0.8935 | 0. 9468
9 10.5012 | 0.5566 | 0.6120 | 0.6675 | 0.7229 | 0.7783 | 0.8337 | 0.8892 | 0. 9446
10 | 0.4842 | 0.5416 | 0.5989 | 0.6562 | 0.7135 | 0. 7708 | 0.8281 | 0.8854 | 0.9427
11 10.4694 | 0.5284 | 0.5873 | 0.6463 | 0.7052 | 0.7642 | 0.8231 | 0.8821 | 0.9410
12 10.4563 | 0.5167 | 0.5771 | 0.6375 | 0.6979 | 0.7583 | 0.8188 | 0.8792 | 0.9396
13 | 0.4445 | 0.5062 | 0.5680 | 0.6297 | 0.6914 | 0.7531 | 0.8148 | 0.8766 | 0.9383
14 10.4339 | 0.4968 | 0.5597 | 0.6226 | 0.6855 | 0.7484 | 0.8113 | 0.8742 | 0.9371
15 1 0.4243 | 0.4883 | 0.5522 | 0.6162 | 0.6802 | 0.7441 | 0.8081 | 0.8721 | 0.9360
16 | 0.4155 | 0.4805 | 0.5454 [ 0.6103 | 0.6753 | 0. 7402 | 0.8052 | 0.8701 | 0.9351
17 10.4074 | 0.4733 | 0.5391 | 0.6050 | 0.6708 | 0.7366 | 0.8025 | 0.8683 | 0.9342
18 | 0.4000 | 0.8314 | 0.5333 | 0.6000 | 0.6667 | 0.7333 | 0.8000 | 0.8667 | 0.9333
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'n=8(1)20m=n—-s—rF > L3 e,z i

m | c=0.1] c=0.2 | c=0.3 | c=0.4 | c=0.5 | c=0.6 | c=0.7 | c=0.8 | c=0.9
5 | 0.6898 | 0.7242 | 0.7587 | 0.7932| 0.8277 | 0.8621 | 0.8966 | 0.9311 | 0.9655
6 |0.6567| 0.6949 | 0.7330| 0.7711 | 0.8093 | 0.8474 | 0.8856 | 0.9237 | 0.9619
7 10.6294 | 0.6706 | 0.7117| 0.7529 | 0.7941 | 0.8353 | 0.8765 | 0.9176 | 0.9588
8 10.6062 | 0.6500| 0.6937| 0.7375| 0.7812 | 0.8250 | 0.8687 | 0.9125 | 0.9562
9 |0.5863 | 0.6322 | 0.6782 | 0.7242 | 0.7701 | 0.8161 | 0.8621 | 0.9081 | 0.9540
10 | 0.5688 | 0.6167 | 0.6646 | 0.7125| 0.7604 | 0.8083 | 0.8563 | 0.9042 | 0.9521
11 10.5532 | 0.6029 | 0.6525 | 0.7022| 0.7518 | 0.8014 | 0.8511 | 0.9007 | 0.9504
12 1 0.5393 | 0.5905| 0.6417 | 0.6929 | 0.7441 | 0.7953 | 0.8464 | 0.8976 | 0.9488
13 1 0.5267 | 0.5793 | 0.6319 | 0.6845 | 0.7371 | 0.7897 | 0.8422 | 0.8948 | 0.9474
14 1 0.5153 | 0.5692 | 0.6230 | 0.6769 | 0.7307 | 0.7846 | 0.8384 | 0.8923 | 0.9461
15 10.5048 | 0.5599 | 0.6149 | 0.6699 | 0.7249 | 0.7799 | 0.8349 | 0.8900 | 0. 9450
16 | 0.4952 | 0.5513 | 0.6074 [ 0.6635| 0.7196 | 0.7756 | 0.8317 | 0.8878 | 0.9439
17 10.4863 | 0.5434 | 0.6004 | 0.6575| 0.7146 | 0.7717 | 0.8288 | 0.8858 | 0.9429
18 | 0.4780 | 0.5360 | 0.5940 | 0.6520 | 0.7100 | 0.7680 | 0.8260 | 0.8840 | 0.9420
19 10.4703 | 0.5291 | 0.5880 [ 0.6468 | 0.7057 | 0.7646 | 0.8234 | 0.8823 | 0.9411
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'n=8(1)20m=n—-s—rF > L3 e,z i

m | c=0.1] c=0.2 | c=0.3 | c=0.4 | c=0.5 | c=0.6 | c=0.7 | c=0.8 | c=0.9
5 | 0.6067 | 0.6504 | 0.6941 | 0.7378 | 0.7815| 0.8252 | 0.8689 | 0.9126 | 0.9563
6 |0.5720 | 0.6195| 0.6671 | 0.7146 | 0.7622 | 0.8098 | 0.8573 | 0.9049 | 0.9524
T 10.5440 | 0.5947 | 0.6453 | 0.6960 | 0.7467 | 0.7973 | 0.8480 | 0.8987 | 0.9493
8 10.5208 | 0.5741 | 0.6273 | 0.6806 | 0.7338 | 0.7870 | 0.8403 | 0.8935 | 0.9468
9 10.5012 | 0.5566 | 0.6120 | 0.6675 | 0.7229 | 0.7783 | 0.8337 | 0.8892 | 0.9446
10 | 0.4842 | 0.5416 | 0.5989 | 0.6562 | 0.7135| 0.7708 | 0.8281 | 0.8854 | 0.9427
11 10.4694 | 0.5284 | 0.5873 | 0.6463 | 0.7052 | 0.7642 | 0.8231 | 0.8821 | 0.9410
12 | 0.4563 | 0.5167 | 0.5771 | 0.6375| 0.6979 | 0.7583 | 0.8188 | 0.8792 | 0.9396
13 | 0.4445 | 0.5062 | 0.5680 | 0.6297| 0.6914 | 0.7531 | 0.8148 | 0.8766 | 0.9383
14 10.4339 | 0.4968 | 0.5597 | 0.6226 | 0.6855 | 0.7484 | 0.8113 | 0.8742 | 0.9371
15 | 0.4243 | 0.4883 | 0.5522 | 0.6162 | 0.6802 | 0.7441 | 0.8081 | 0.8721 | 0.9360
16 | 0.4155 | 0.4805 | 0.5454 | 0.6103 | 0.6753 | 0.7402 | 0.8052 | 0.8701 | 0.9351
17 10.4074 | 0.4733 | 0.5391 | 0.6050 | 0.6708 | 0.7366 | 0.8025| 0.8683 | 0.9342
18 | 0.4000 | 0.4667 | 0.5333 | 0.6000| 0.6667 | 0.7333 | 0.8000 | 0.8667 | 0.9333
19 1 0.3931 | 0.4605 | 0.5279 | 0.5954 | 0.6628 | 0.7303 | 0.7977 | 0.8651 | 0.9326
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% 3.5 AHF K Fa=0012% "Vhdr=1s=17 > & & 5§ ey ifatk 24 T 58 0P())

#35 5(P(c;))* SNSE -

n=20 r=1 s=1 a=0.01 n=30 r=1 s=1 a=0.01
c, P(c,) P(cy) SMSE P(c,) P(cy) SMSE
0.2 0.01000 0.01017  8.99E-06 0.01000 0.01017 9.21E-06
0.3 0.04724 0.04816 4. 65E-05 0.06238 0.06131 6.42E-05
0.4 0.16992 0.17193 1. 31E-04 0.25263 0.25243 1.54E-04
0.5 0.43912 0.44114  2.97E-04 0.61963 0.61808 2.26E-04
0.6 0. 77740 0. 77829 1. 85E-04 0.92163 0.92224 8. 18E-05
0.7 0.96802 0.96783  3.16E-05 0.99691 0.99714 2.61E-06
0.8 0.99939 0.99930 6.58E-07 1. 00000 1.00000 2.45E-11
0.9 1.00000 1. 00000 4. 90E-15 1.00000 1.00000 7.19E-24
1 -
0.9 -
0.8 -
0.7 - /
/
06 | —8— n=20r=1s=1 1Y ES]
ceepx-- n=20 r=1 s=1 [EEHR T S
0.5 -
= <@--n=30r=1s=1 i E S
04 = n=30 r=1 s=1PiEHHR /)
0.3 -
0.2 -
0.1 -
0 T T T T T T T
0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

W31 alf¥ kFa=0012%"58r=1s=17 > 3 & radp ket T4 HgT 28 (P(c) ¥
E @ (P(c))z BA) -
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% 3.6 AHF kFa=0012% "Vhlr=1,5s=27 > & & oadyibatk 24 T HE0P(())

#35 5(P(c;))* SNSE -

n=20 r=1 s=2 a=0.01 n=30 r=1 s=2 a=0.01
c, P(c,) P(cy) SMSE P(c,) P(cy) SMSE
0.2 0.01000 0.00982 9. 82E-06 0.01000 0.00968 8. 12E-06
0.3 0. 04572 0. 04589 3. 60E-05 0.06086 0.06123 5. 18E-05
0.4 0.16174 0.16431 1. 27E-04 0.24434 0.24357 1.82E-04
0.5 0.41864 0.42220 2. 22E-04 0.60370 0.60246 2.67TE-04
0.6 0. 75460 0. 75519 1. 34E-04 0.91258 0.91208 1.04E-04
0.7 0. 96006 0. 95994 3. 27E-05 0.99607 0.99584 5.07E-06
0.8 0.99903 0. 99904 1. 12E-06 0.99999 1.00000 6.56E-11
0.9 1.00000 1.00000 3. H8E-14 1.00000 1.00000 5.66E-23
1 -
0.9
0.8 -
Vi
07 - :/
0.6 - —m— n=20r=1 s=2 fdsE
-+fpe-- n=20 r=1 s=2 FY{EEHEE
03 1 -—@--n=30r=1s=2 ¥ EH
0.4 — ¥ = n=30 r=1 s=2 1B EFe IE 1
03
0.2
0.1
D T T T T T T T 1

0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

W3.2 alf¥ kFa=0012x%"T5Hr=15=27 > 2 &G radp ikt 4 T 28 P(c)
E @ (P(c))z BA) -
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237 AH¥ kFa=0012% "Vhdr=1,5s=37 » & & oadgibatk 24 T 58 0P(c))

#35 5(P(c;))* SNSE -

n=20 r=1 s=3 a=0.01 n=30 r=1 s=3 a=0.01
c, P(c,) P(cy) SMSE P(c,) P(cy) SMSE
0.2 0.01000 0.01012 8. 20E-06 0.01000 0.01022 1.11E-05
0.3 0.04419 0.04375 4. 26E-05 0.05935 0.05989 4.59E-05
0.4 0. 15358 0.15349 1. 34E-04 0.23604 0.23607 1.54E-04
0.5 0.39776 0.40054 1. 93E-04 0.58728 0.58722 2.21E-04
0.6 0. 72986 0.73100 2. 03E-04 0.90258 0.90208 8. 44E-05
0.7 0. 95026 0.94978 4. 37E-05 0.99500 0.99473 4.69E-06
0.8 0. 99846 0. 99836 1. 30E-06 0.99999 1.00000 1.75E-10
0.9 1.00000 1.00000 2. 60E-13 1.00000 1.00000 4.43E-22
1 -
0.9
0.8 -
s
07 4
0.6 - ‘/ —m— n=20r=1 s=3 s E
=-rifyees =20 r=1 =3 BERRRIE
03 1 -—@--n=30r=1 s=3 fEH
0.4 — ¥ = n=30 r=1 s=3 1B e IE 1
03
0.2
0.1
D T T T T T T T 1

0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

W 3.3 alf¥ kFa=0012x%"T58r=15=37 > 2 &G radp ikt T4 HRT 28 P(c)
E @ (P(c))z BA) -
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% 3.8 ¥ kFa=0012% "Vhlr=2,5=17 » & & oadgifatk 24 T 58 P(c))

#35 5(P(c;))* SNSE -

n=20 r=2 s=1 a=0.01 n=30 r=2 s=1 a=0.01
c, P(c,) P(cy) SMSE P(c,) P(cy) SMSE
0.2 0.01000 0.00918  8.32E-06 0.01000 0.00960 8. 72E-06
0.3 0. 04572 0.04444 5. 06E-05 0.06086 0.06102 5.32E-05
0.4 0.16174 0.16103 1. 46E-04 0.24434 0.24562 1.33E-04
0.5 0.41864 0.41720 2.51E-04 0.60370 0.60398 1.90E-04
0.6 0. 75460 0.75285  2.16E-04 0.91258 0.91248 1. 06E-04
0.7 0.96006 0.95937  3.65E-05 0.99607 0.99610 3.8b5E-06
0.8 0.99903 0.99919 6. 39E-07 0.99999 1.00000 6.56E-11
0.9 1.00000 1.00000 3. H8E-14 1.00000 1.00000 5.66E-23
1 -
0.9
0.8 -
Fd
07 - !
/
0.6 - —m— n=20r=2 s=1 fdEE
=-rifyees =20 r=2 s=1 BERRRIE
03 1 -—@--n=30r=2 s=1 B EH
0.4 — ¥ = n=30 r=2 s=1f 1B R e IE T
03
0.2
0.1
D T T T T T T T 1

0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

W34 alF kFa=0012%"5Hr=2,5=17 > 3 & rcdp ket 4 T 2B (P(c)
E @ (P(c))z BA) -

74




3.9 AHF K Fa=0012% Vhdr=2,5=27 > & & ondgibatk 24 T 58 0P(())

#35 5(P(c;))* SNSE -

n=20 r=2 s=2 a=0.01 n=30 r=2 s=2 a=0.01
c, P(c,) P(cy) SMSE P(c,) P(cy) SMSE
0.2 0.01000 0.00993 8.13E-06 0.01000 0.01012 1.13E-05
0.3 0.04419 0.04474 4. 86E-05 0.05935 0.05838 4. 78E-05
0.4 0.15358 0. 15405 1. 29E-04 0.23604 0.23214 1.99E-04
0.5 0.39776 0.39849  2.22E-04 0.58728 0.58415 2.18E-04
0.6 0. 72986 0. 72942 1. 69E-04 0.90258 0.90216 1.03E-04
0.7 0.95026 0.94992 4. 32E-05 0.99500 0.99473 6.17E-06
0.8 0. 99846 0. 99859 1. 62E-06 0.99999 0.99999 9.91E-09
0.9 1.00000 1.00000 2. 60E-13 1.00000 1.00000 4.43E-22
1 -
0.9 -
0.8 -
s
07 - ry
4
0.6 - —m— n=20r=2 s=2 fdsE
=reifeers N=20 r=2 s=2 BRI E D
03 1 -—@--n=30r=2 s=2 B EH
04 - = ¥ = n=30r=2 s=20EEREIE D
0.3 -
0.2 -
0.1 -
D T T T T T T T 1

0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

W 3.5 Al ¥ kFa=0012%"T5Hr=2,5=27 > 2 & rcdp ikt 4 HgT 28 (P(c)
E @ (P(c))z BA) -
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23,10 aBF¥ ko= 0012% T4lr=25=37 » & &5 e etk 4 T 30w (P(cy))

2 3 @ (P(cy))% SMSE -

n=20 r=2 s=3 a=0.01 n=30 r=2 s=3 a=0.01
c, P(c,) P(cy) SMSE P(c,) P(cy) SMSE
0.2 0.01000 0.00993 1.21E-05 0.01000 0.00910 9.68E-06
0.3 0.04266 0.04179  3.86E-05 0.05783 0.05596 4.98E-05
0.4 0.14546 0.14344 1. 28E-04 0.22774 0.22565 1.88E-04
0.5 0.37653 0.37577  2.40E-04 0.57038 0.57036 2.01E-04
0.6 0.70308 0.70326 2. 14E-04 0.89154  0.89014 9.18E-05
0.7 0.93822 0.93862 5. 98E-05 0.99365 0.99395 5.62E-06
0.8 0.99757 0.99737 3.19E-06 0.99998 0.99998 1.96E-08
0.9 1.00000 0.99999 9.97E-09 1.00000 1.00000 3.45E-21
1 -
09 -+
0.8 1
0.7 1 ff

—m— n=20r=2 s=3 & EH
---#r--- n=20 r=2 5=3 {EEHEE
-—@--n=30r=2 s=3 f&E
— ¥ —n=30 r=2 s=3f1EEH&TE L
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0.4 -
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0.1 -

0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

B 3.6 A ¥ k¥a=0012%" "V dkr=2,s =37 > & & Yradgthil 4 gL 9E (P(cy)¥
3 E(P(c))2 B -
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2311 aBg¥ kia=0012% T4lr=3,5=17 » & &5 ety etk 4 2321 (P(cy))

2 3 @ (P(cy))% SMSE -

n=20 r=3 s=1 a=0.01 n=30 r=3 s=1 a=0.01
c, P(c) P(cy) SMSE P(c,) P(c;)  SMSE
0.2 0.01000 0.00970  9.38E-06 0.01000  0.00977 7.13E-06
0.3 0.04419  0.04416  3.37E-05 0.05935  0.06040 5.54E-05
0.4 0.15358  0.15472  1.41E-04 0.23604 0.23775 1.42E-04
0.5 0.39776  0.40027  2.33E-04 0.58728  0.58807 2.32E-04
0.6 0.72986  0.73002  2.56E-04 0.90258  0.90351 8.34E-05
0.7 0.95026  0.94953  4.12E-05 0.99500  0.99522 5. 04E-06
0.8 0.99846  0.99844 1.37E-06 0.99999  0.99997 4. 94E-08
0.9 1.00000 1.00000  2.60E-13 1.00000 1.00000 4.43E-22
1
09 -
0.8 -
07 - ff

—m— n=20r=3 s=1 & EH
---#--- n=20 r=3 s=1 BRI E
-—@--n=30r=3 s=1 F&E
— ¥ —n=30 r=3 s=1f1HEEH&TE L
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4312 AR F K Ba=0012%k"V48r=3,s=2T7 E &4 Fondn ik 4 ﬁ-%«g&lfjlﬁ(P(C‘l))

2 3 @ (P(cy))% SMSE -

n=20 r=3 s=2 a=0.01 n=30 r=3 s=2 a=0.01
c, P(c,) P(cy) SMSE P(c,) P(cy) SMSE
0.2 0.01000 0.01071  9.07E-06 0.01000 0.00996 8.48E-06
0.3 0.04266 0.04369 3. T0E-05 0.05783 0.05892 5.82E-05
0.4 0.14546 0.14614 1.22E-04 0.22774 0.22951 1.80E-04
0.5 0.37653 0.38052  2.10E-04 0.57038 0.57205 2.50E-04
0.6 0.70308 0.70379 2.00E-04 0.89154 0.89115 1.08E-04
0.7 0.93822 0.93834 5.33E-05 0.99365 0.99353 7T.26E-06
0.8 0.99757 0.99786  2.46E-06 0.99998 0.99999 1.00E-08
0.9 1.00000 1.00000 1.86E-12 1.00000 1.00000 3.45E-21
1 -
09 -+
0.8 1
0.7 1 ff

—m— n=20r=3 s=2 & EH
---#r--- n=20 r=3 s=2 FEEHEE
-—@--n=30r=3 s=2 P& E
— ¥ —n=30 r=3 s=2f1EEH&TE L
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0.4 -

0.3
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0.1 -

0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

B 3.8 wh ¥ k¥a=0012x%"V5dkr=3,s =27 > & & Yradgthif 4 gL 9E (P(cy)¥
3 E(P(c))2 B -
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%313 BHF Rk Fa=0012%K " V58r=3,5 =37 > & & Fredp etk T4 BT 5 (P(c))

#35 5.(P(c;))* SNSE -

n=20 r=3 s=3 a=0.01 n=30 r=3 s=3 a=0.01
c, P(c,) P(cy) SMSE P(c,) P(cy) SMSE
0.2 0.01000 0.01033 8. 33E-06 0.01000 0.00984 9. T4E-06
0.3 0.04112 0.04203 3. TTE-05 0. 05632 0.05651 4. T72E-05
0.4 0.13736 0.13968 1. 20E-04 0.21944 0.21856 1.43E-04
0.5 0. 35495 0. 35886 2. 01E-04 0. 55301 0.55410 2.19E-04
0.6 0.67417 0. 67542 1. 98E-04 0.87939 0.87984 9. 37TE-05
0.7 0. 92349 0.92417 9. 48E-05 0.99196 0.99225 8. 7THE-06
0.8 0.99619 0.99608 5. 67E-06 0. 99996 0.99995 4. 77E-08
0.9 1.00000 0.99999 9. 94E-09 1.00000 1.00000 2.66E-20
1 -
0.9 -
0.8 -
f;’
D? T f
06 - —m— n=20r=3 s=3 s H
== n=20 r=3 s=3YEER S TE
05 1 -—@--n=30r=3s=3 A9 E D
0.4 - — ¥ —n=30 r=3 s=30RERRIE
0.3 -
0.2 -
0.1
D T T T T T T T 1
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%314 BB F ko= 00588 Thlkr=1,s = 17 » & &4 »cdy oith 24 BT 156 (P(o)))

2 3 @ (P(cy))% SMSE -

n=20 r=1 s=1 a=0.01 n=30 r=1 s=1 a=0.01
c, P(c,) P(cy) SMSE P(c,) P(cy) SMSE
0.2 0. 05000 0. 05000 5. 13E-05 0. 05000 0.04961 4.55E-05
0.3 0. 15336 0. 15267 1. 21E-04 0. 18818 0.18826 1. T78E-04
0.4 0.36769 0. 36891 2. 04E-04 0. 48046 0.48310 2.32E-04
0.5 0. 66521 0.66771 3. 08E-04 0.81208 0.81169 1.20E-04
0.6 0.90370 0.90289 7.97E-05 0.97484 0.97465 2. 98E-05
0.7 0. 99051 0.99004 1. 27E-05 0.99939 0.99940 4.40E-07
0.8 0. 99988 0. 99987 1. 13E-07 1.00000 0.99999 9. 99E-09
0.9 1.00000 1.00000 7. 95E-17 1.00000 1.00000 3.47E-26
1 - X |
0.9
0.8 -
07 - !
/
06 - —m— n=20 r=1 s=1 e 0
-+ gf--- n=20 r=1 s=11iE RS R
03 1 --@--n=30r=1s=193&E N
0.4 — ¥ - n=30 r=1 s=18E RS E N
03
0.2
0.1
D T T T T T T T 1
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3,10 7 ¥k Ba = 005238 "Lhder = 1,s = 17 » & b 4 »ehy el 24 g 10 (Plc) ¥
5 5(P(cy) 2 WA -
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%315 G ¥ K Fa=00523 ks =1,5=27 » & &4 ouy ot U RS 39 (P(c)

2 3 @ (P(cy))% SMSE -

n=20 r=1 s=2 a=0.01 n=30 r=1 s=2 a=0.01
c, P(c,) P(cy) SMSE P(c,) P(cy) SMSE
0.2 0. 05000 0.04990 4. 26E-05 0.05000 0.05039 4.06E-05
0.3 0.14968 0.15012 1. 28E-04 0.18483 0.18700 1.63E-04
0.4 0.35534 0.35437 3.00E-04 0.47001 0.47244 3. 04E-04
0.5 0. 64594 0.64564 2. 73E-04 0.80064 0.80304 1.47E-04
0.6 0.89033 0.89068 1. 07E-04 0.97113 0.97125 3.49E-05
0.7 0. 98760 0. 98780 1. 16E-05 0.99919 0.99924 7. 05E-07
0.8 0. 99980 0. 99982 1. 68E-07 1.00000 1.00000 1.01E-12
0.9 1.00000 1.00000 6. 67E-16 1.00000 1.00000 3.05E-25
1 - X |
0.9
0.8 -
07 - !
F
0.6 - —m— n=20r=1 s=2 fdsE
=eeifyees =20 r=1 s=2 FTHERREE H
05 7 -—@--n=30r=1s=2 ¥ EH
0.4 — ¥ = n=30 r=1 s=2 1B EFe IE 1
03
0.2
0.1
D T T T T T T T 1

0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
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%316 BB F ko= 005831 Thlkr = 1,5 = 37 » & &4 »cdy iith 24 BT 151 (P(o)))

2 3 @ (P(cy))% SMSE -

n=20 r=1 s=3 a=0.01 n=30 r=1 s=3 a=0.01
c, P(c,) P(cy) SMSE P(c,) P(cy) SMSE
0.2 0. 05000 0.05013 5.07E-05 0.05000 0.05038 b5.42E-05
0.3 0. 14595 0.14696 1. 39E-04 0.18146 0.18138 1.58E-04
0.4 0.34277 0.34390 2. T9E-04 0.45938 0.45928 2.60E-04
0.5 0. 62569 0.62507 2.23E-04 0.78856 0.78784 1.48E-04
0.6 0. 87521 0. 87683 1. 20E-04 0. 96691 0.96572 2. 39E-05
0.7 0.98383 0.98407 2. 15E-05 0.99893 0.99903 1.10E-06
0.8 0. 99966 0.99959  4.47E-07 1.00000 1.00000 2.95E-12
0.9 1.00000 1.00000 h.H7E-15 1.00000 1.00000 2.67E-24
1 = X |
0.9 -
0.8 -
0.7 - /
Fa
0.6 - —m— n=20r=1 s=3 s E
=-rifyees =20 r=1 =3 BERRRIE
03 1 -—@--n=30r=1 s=3 fEH
0.4 — ¥ = n=30 r=1 s=3 1B e IE 1
0.3 -
0.2 -
01 -
D T T T T T T T 1
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2317 BB ¥ ko= 0052% Thlr =25 =17 » & & 5 ety etk 4 2391 (P(cy))

2 3 @ (P(cy))% SMSE -

n=20 r=2 s=1 a=0.01 n=30 r=2 s=1 a=0.01
c, P(c,) P(cy) SMSE P(c,) P(cy) SMSE
0.2 0. 05000 0. 04941 4. 7TT7E-05 0.05000 0.05071 4.10E-05
0.3 0. 14968 0.14949 1. 32E-04 0.18483 0.18566 1.30E-04
0.4 0.35534 0.35765  2.24E-04 0.47001 0.46857 3.10E-04
0.5 0. 64594 0. 64545 1. 92E-04 0.80064 0.79865 1.53E-04
0.6 0.89033 0. 88961 1.11E-04 0.97113 0.97105 2.96E-05
0.7 0.98760 0. 98746 1.01E-05 0.99919 0.99903 8. 16E-07
0.8 0. 99980 0. 99988 1. 12E-07 1.00000 1.00000 1.01E-12
0.9 1.00000 1.00000 6. 67E-16 1.00000 1.00000 3.05E-25
1 - X |
0.9 -
0.8 -
07 - s
/ I
0.6 - —m— n=20r=2 s=1 fdEE
=reifeer= N=20 r=2 s=1 BRI E D
03 1 -—@--n=30r=2 s=1 B EH
04 - = ¥ = n=30r=2 s=1REEREIE S
0.3 -
0.2 -
0.1 -
D T T T T T T T 1
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#3.18 Al F K Ba=00582%"V2fr=2,s=27 E 44 Fondn ik 4 ﬁ-%«g&lfjlﬁ(P(C‘l))

2 3 @ (P(cy))% SMSE -

n=20 r=2 s=2 a=0.01 n=30 r=2 s=2 a=0.01
c, P(c,) P(cy) SMSE P(c,) P(cy) SMSE
0.2 0. 05000 0.05037 4.47E-05 0.05000 0.05005 b5.38E-0b
0.3 0. 14595 0. 14600 1. 35E-04 0.18146 0.17975 1.46E-04
0.4 0.34277 0. 34360 2. 09E-04 0.45938 0.45737 2.38E-04
0.5 0. 62569 0. 62650 2. 16E-04 0.78856 0.78788 1.T9E-04
0.6 0. 87521 0.87419 9. 78E-05 0. 96691 0.96659 3. 26E-05
0.7 0.98383 0. 98391 1. 62E-05 0.99893 0.99892 1.07E-06
0.8 0. 99966 0.99969 3. 15E-07 1.00000 1.00000 2.95E-12
0.9 1.00000 1.00000 h.H7E-15 1.00000 1.00000 2.67E-24
1 - X |
0.9 -
0.8 -
0.7 - /
j
0.6 - —m— n=20r=2 s=2 fdsE
=-rifyees =20 r=2 5=2 BERRRIE
03 1 -—@--n=30r=2 s=2 B EH
0.4 — ¥ = n=30 r=2 s=2 1B R e IE T
0.3 -
0.2 -
01 -
D T T T T T T T 1
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%319 BB F ko= 00588 Thlkr = 2,5 = 37 » & &4 ety itk 24 BT 51 (P(o))

2 3 @ (P(cy))% SMSE -

n=20 r=2 s=3 a=0.01 n=30 r=2 s=3 a=0.01
c, P(c,) P(cy) SMSE P(c,) P(cy) SMSE
0.2 0. 05000 0.04954  4.97E-05 0. 05000 0.05016 3. 91E-05
0.3 0.14216 0.14244 1. 26E-04 0.17806 0.17680 1.32E-04
0.4 0. 32998 0. 33212 1. 97E-04 0.44858 0.44618 2.52E-04
0.5 0.60441 0. 60586 2. 01E-04 0. 77581 0.77574 1.55E-04
0.6 0. 85814 0.85838 8. T73E-05 0.96209 0.96232 3.49E-05
0.7 0.97895 0.97918 2. 46E-05 0.99859 0.99870 1.10E-06
0.8 0.99943 0. 99936 5. T6E-07 1.00000 1.00000 8.62E-12
0.9 1.00000 1.00000 4.61E-14 1.00000 1.00000 2.33E-23
1 -
0.9
0.8 -
/
0.7 1 Fi
0.6 - —m— n=20r=2 s=3 fdEE
=-rifyees =20 r=2 =3 BERRIE
03 1 -—@--n=30r=2 s=3 {4 EH
0.4 — ¥ = n=30 r=2 s=3 1R e IE T
03
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0.1
D T T T T T T T 1
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%320 BEF KFa= 00588 Thlkr=3,s = 17 » & &4 »cdy oith 24 BT 150 (P(o)))

2 3 @ (P(cy))% SMSE -

n=20 r=3 s=1 a=0.01 n=30 r=3 s=1 a=0.01
c, P(c,) P(cy) SMSE P(c,) P(cy) SMSE
0.2 0. 05000 0. 05001 3. 89E-05 0. 05000 0.05013 4.98E-05
0.3 0. 14595 0. 14667 1. 28E-04 0.18146 0.18266 1.37E-04
0.4 0.34277 0. 34366 2. 35E-04 0.45938 0.45945 2.40E-04
0.5 0. 62569 0. 62657 2. 18E-04 0.78856 0.78824 1.70E-04
0.6 0. 87521 0.87524 1. 05E-04 0.96691 0.96713 3.30E-05
0.7 0.98383 0.98411 1.73E-05 0.99893 0.99903 8.38E-07
0.8 0.99966 0.99962 3. 37E-07 1.00000 1.00000 2.95E-12
0.9 1.00000 1.00000 5.57E-15 1.00000 1.00000 2.67E-24
1 o — — l I
lx.._.-

0.9 -

0.8

0.7

06 —@— n=20 r=3 s=1 F$&E

---fy--- n=20 r=3 s=1 FIEEREE D
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0.1 A

0.2 0.3 0.4 05 0.6 0.7 0.8 09
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% 3.2]1 R F k#a=0052%"T

2 3 @ (P(cy))% SMSE -

L3 fr=3,s=27 & &

oty Pl 4 WRT 0 (P(cy))

n=20 r=3 s=2 a=0.01 n=30 r=3 s=2 a=0.01
c, P(c) P(cy) SMSE P(c,) P(c;)  SMSE
0.2 0.05000 0.05024  4.37E-05 0.05000  0.05053 4.82E-05
0.3 0.14216  0.14054  1.33E-04 0.17806  0.17855 1.22E-04
0.4 0.32998  0.32770  2.66E-04 0.44858  0.44837 2.22E-04
0.5 0.60441  0.60334  3.42E-04 0.77581  0.77577 1. 77E-04
0.6 0.85814 0.85714  1.28E-04 0.96209  0.96226 4.47E-05
0.7 0.97895  0.97758  2.59E-05 0.99859  0.99873 1.04E-06
0.8 0.99943  0.99947  5.31E-07 1.00000 1.00000 8.62E-12
0.9 1.00000 1.00000 4.61E-14 1.00000 1.00000 2.33E-23
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0.4 A

0.3

0.2 A

0.1 A

—m— n=20r=3 s=2 s E
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4 3.22 HhgE-KEa=0.05%" 58k =3,s

E & (P(cy))% SMSE ©

37 & h i rndp itk T4 T 08 (P(c)e

n=20 r=3 s=3 a=0.01

n=30 r=3 s=3 a=0.01

c, P(c) P(cy) SMSE P(c,) P(c;)  SMSE

0.2 0.05000 0.04989  3.38E-05 0.05000 0.05110 5.26E-05
0.3 0.13832  0.13933  9.62E-05 0.17463  0.17685 1.40E-04
0.4 0.31695 0.31771  2.08E-04 0.43759  0.43857 1.95E-04
0.5 0.58207 0.58457  2.43E-04 0.76237  0.76144 1.47E-04
0.6 0.83889  0.84015  1.20E-04 0.95659  0.95567 4.95E-05
0.7 0.97264  0.97282  2.45E-05 0.99814  0.99805 2. 10E-06
0.8 0.99905  0.99886  1.24E-06 0.99999 1.00000 2.51E-11
0.9 1.00000 1.00000  3.80E-13 1.00000 1.00000 2.03E-22
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£3.23 AR F KBa=001- $8EF=3 P EC, =035z T AL=17 - & & Hoch

2 Gk (1= a) B 1 22 SHSE -

a=0.01B=3

(n,1,s) 1-a SMSE

(20,1, 1) 0. 98994 9. T4E-05
(20,1, 2) 0. 98981 1. 03E-04
(20,1,3) 0. 99046 9. 22E-05
(20,2,1) 0. 98996 1. 04E-04
(20,2,2) 0. 98948 1. 03E-04
(20,2,3) 0. 98967 1. 11E-04
(20,3, 1) 0. 99002 9. 22E-05
(20,3,2) 0.99024 9. 90E-05
(20,3,3) 0.99013 9. 45E-05
(30,1, 1) 0. 99022 9. 40E-05
(30,1, 2) 0.99010 1. 06E-04
(30,1, 3) 0.99010 1. 00E-04
(30,2, 1) 0. 98983 1. 08E-04
(30,2,2) 0. 98965 1.01E-04
(30,2,3) 0.99025 9. 33E-05
(30,3, 1) 0. 98958 9. 88E-05
(30,3,2) 0. 98967 9. TTE-05
(30,3, 3) 0. 99062 9. 34E-05
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£3.24 BBF KBa=005 $#EF=3 P EC, =035t T AL=17 - & & Hoch

2 Gk (1= a) B 1 22 SHSE -

a=0.05pB=3

(n,1,s) 1-a SMSE

(20,1, 1) 0. 95068 4. 88E-04
(20,1,2) 0. 95022 4. 96E-04
(20,1,3) 0. 94910 4. 90E-04
(20,2,1) 0. 95091 4. 60E-04
(20,2,2) 0.94954 4. 82E-04
(20,2,3) 0. 94991 4. 98E-04
(20,3,1) 0. 94987 4. 64E-04
(20,3,2) 0.95033 4. 61E-04
(20,3, 3) 0. 95053 4. 73E-04
(30,1, 1) 0. 95036 4. 60E-04
(30,1,2) 0.95011 4. T7E-04
(30,1,3) 0.94939 4. 95E-04
(30,2, 1) 0.94914 4. 88E-04
(30,2,2) 0. 95051 5. 07E-04
(30,2,3) 0.95014 4. 70E-04
(30,3, 1) 0. 98985 1. 01E-04
(30,3,2) 0.99003 9. 73E-05
(30,3, 3) 0. 94884 5. 09E-04
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